e

& .SESAME

SESAME MOTOR CORP.

i ERR D ERAT

BrrhMEEMER 5994k

599, Sec 1, Hemu Rd., Shengang, Taichung,
42953, Taiwan

TEL : +886-4-2561-0011

FAX : +886-4-2562-7766
www.sesamemotor.com
info@sesamemotor.com.iw

Skype Phone : sesame_motor

et EtgESRRAS
EBhREEEL SRR 139 1558210318

TEL : +86-21-5950-6232

FAX : +86-21-5950-6237

http:// 1} .com

shanghai@sesamemotor.com

., A leadin

PLANETARY
GEARHEADS sesmmm

¥y

<HBEMRERS>
Copyright © 2015 Sesame Motor Corp.
All rights reserved

g e

] 4 \:‘
- ‘ 31
- {?‘
Y
SNt
\\3‘:?‘»&}
A 8,
\\\'
SR
Y
» g
FICOBA (Recinto Ferial Gipuzkoa) R AR <
AVDA.IPARRALDE, 43 - ROOM 3 ‘
20302 IRUN-GIPUZKOA (SPAIN) ]000/0
Mgt
R 0034 646 211965 Made in Taiwan
4 RCC@RCCINDUSTRIAL COM X
© RCCINDUSTRIAL N
g
INDUSTRIALSOLUTIONS WWW.RCCINDUSTRIAL.GOM i ’
REMS (€ A B punss-

N A - oS



MOTOR AND SPEED REDUCER

Company Profile zamn

Semorme Motor Conp, a5 0 kading rand in Motor and gear mdecer lachnoloory.

SESAME MCTOR CORP® Fourdsd in 1520, howe mong thon 20 weors of prolessionad molor ard
gearood manulactaing ond soles expedance. M resoonse o business growth, and provids
bathx custornes service, SEEAME MOTZR hoo geoulsdon ong consmucton for oboal 7,000
souceel rrwshors of maw focton In 2007, Adding modkem wordznop focliies with e ofocies
idegmition ¢ ERP syslens, purchoss new processing ond  festng souisemer

conlinuously anhancs ey pars’ ooduchvity we hod nol onbye egpending owesall pr
shoran celvery, anc ensle prochscte’ quoify do achievs caslerner salelocion
ROEHT paciicis nove rEcaived unanimous prokee.

Bl ESAARSRN - RIS D0 N R

EEREMETERLT AT WNT - FARATHRRIET SRR R . AR
TERECH I R IR TIT - FA000 EIE S R ST R £ RS - B GRS RE
FEE - RPN A BRI TR AR - TR MR SRR - TERSER -
SRITEA - anf S U TR R R o R || R — IR

—
e e T

Www iesamemoerlor.com




PLANETARY GEARHEADS

Company Profile aamn

"SESAME MOTOR" is built base on spirit of "customer satisfaction, priority service" philosophy,
providing three privileges "best quality, fastest delivery, and best sale service". Our products
have obtained high market share in Taiwan, that had lead “SESAME MOTOR” be a well-known
brand. We had agent, distributor set-up in South Korea, China and Southeast Asia. In addition
we had a branch company set up in Shanghai, China, expanding our market in Americas,
Europe and the Middle East, setting a goal for globalization of services.

"SESAME MOTOR" also has a professional R & D team and experienced production-related
sectors; can provide high accuracy products for different customer needs; high-quality gear
and the surrounding fransmission, develep and produce other kinds of gear; customized motor
products, products with detailed-oriented, high precision, low noise, high efficiency, and good
quality properties. Product development are aiming three directions "science and technology,
environmental protection, and innovation”. Product will be used in tool machines, industrial
robots, semiconductor devices, aircraft industrial, medical and rehabilitation equipment,
electric scooter, electric bike, auto storage devices, green energy-related industries, testing
food machinery, bakery equipment, packaging machinery and agricultural equipment,

equipment and other sophisticated automation equipment.

MtBEW) 28 (BEERE  RBEL) WER > 27 (RERHE - BIRRH - RISER. N=8RK -
EAERASHHERZNZRIE  RTYEER - AERREEREAEFHN - HEEDBRIIZAE » WiE
BEIFEEM  BIRARMS - RSN ERBEREE

TR QREREEENAREER « BB ENEEEMEF - IS TNEERRREHSEE - 85
HRERMR EBEE M - R SESNNEMRSESERLESR  ERARORIL BES - BE
K SRERFERRBERT  ERAREHE MR BR A1 =750 @ SERBRARITEMM - Z3

i i AR~ MBI - AT  ERERRE SERALSE - EHETE - EBERHERE - ieeEmER
= = — 3 ~ RRERMESE - MM - BUIERE - BERMBRREERESIERTBE I ERER -

il miajafe |

()

~
7~ SESAME

www.sesamemotor.com




PLANETARY GEARHEADS

@

=)
@/ SESAME
= Trade Mark & Certification zmzmm=

@ oo

Certificate of Registration

Company Profile aamn

"SESAME MOTOR" has been successively obtained CE,CCC,UL, ISO2001 and ISO14001 ceriification
and honorary awards. As we contfinuously, progressively for created finest quality products; with
'"Honesty" for providing infegrity and pragmatic service; with "Creativity" given customer
"Positivity" to support & responsible for the efficiency of productivity; with 'Innovation" on
profession and knowledge of knowhow, by these four philosophy management, we aims o
become the first market trend indicators. "SESAME MOTOR" strong operating feam adhere fo
the blue ocean strategy of entering the intermational market and high-tech field, to create the
future more professional, betfter quality of sustainable management systems, establishment of
'a combination of leading technology and brand reputation” for competitive advantage.

IS0 9001:2008  ISO 14001:2004

e ——

SRR RES

Registration Number: 8880921718 Registration Number: 38E08380

RZHS A ce

SESAMENOTORCOR®: Gert.No.E209009

ItREEm) E5%%BISCE ~CCC UL 1S09001 & 1SO14001 FEZHRE » AERKEIEERREES
WARR Tal : WEBE - TRl : AEEFEEHSEN ~ TEl - WBERENIFRE - Tl : BiER
BHEERMINAEEES - MONSHECEER : IHHEN BN EEERRHEAnERRERER

China Compulsory Planetary Gearhead

L2 EERIE - BERREER(L - EEECRREIRRER » Bl [REENSREANEERE ZHS Certification (CCC) PHL Series
= - China SIPO Patent

e SUes of ey,

SESAME

avars

=H - RE - hE - &8 - BE - JFEE - mey - HREDE - SIS E SR
The United States, European Union, China, Taiwan, Korea, Philippines, Vietnam, Malaysia, Singapore ...etc.
trade mark certifications.

<
7% SESAME

www.sesamemotor.com




PLANETARY GEARHEADS

<
%~ SESAME

O,
www.sesamemotor.com




=
/\\J

7~ SESAME

©)

Production Line «zs

FREmRERE

Induction Motor and
Speed Reducer Production Line

TEXRE#E
Planetary Gearheads Production Line

BHRZ  TEXRER ZBERE - T

EFRHERBESEHEE -

Laser Printing: According to the needs of

customer to perform simple laser printing B R

on to planetary gearhead bracket. Precision Gear Motor Production Line

PLANETARY GEARHEADS

Applications zzmm

Applications of Planetary Gearhead

Machine Tools

Metal Cutting Machines, Machining Centers, CNC Drilling Machines, Lathes and Turning Machines, Milling
and Boring Machines, Grinding Machines, Drilling Machines, Planning Machines, Metal Forming Machine Tools,
Presses, Tube and Wire Processing Machines.

Industry Machinery

Packaging Machinery, Food and Beverage Processing Machinery, Bakery Equipment, Agricultural Machinery,
Textile Machinery,, Shoemaking Machinery, Wood Working Machinery, Printing Machinery, Plastic processing
Machinery, laser Cutting and welding Machines.

Automation Equipment

Industrial Robots, Semiconductor Devices, Automatic Storage System,

Surface Treatment Equipments.

Aerospace Industry

Medical and Rehabilitation Equipment

Electric Scooter

Green Energy-Related Industries

Testing Devices

Automation and Precise Positioning Equipment with Servo Motors

TEAREMER :

IEHE

EMIIBI TR « RSINTH ~ S 0008 - 555 - 85 © B - $5R - 5 - 38K - SEMAEITRSE - K - Ebii
KRATIN TER0E - SEEW -

ERIW
Eggéﬁﬁﬂﬂmm‘Mﬁﬁﬁ~giﬁm*ﬁﬁ&w~ﬂﬁﬁm~*Iwm\mmwm‘ﬁﬁﬁm~ﬁﬂﬂﬂﬁ‘
HENLE R

ERBBA © FEBRG  HDARERF  RARERA

AT S

ERERSE

BERSE

AREEMRNER

nHRma
EEARSE BRI EERE AR

Motor and Reducer

- Machine Tool Accessories - Cuttig Equipment - Bar Feeder
- Gilding Machine : Conveyor Equipment : Food Machine
- Screen Printing - Agricultural Machinery - Medical Equipment

/B B
- TSR - SBURE - 000 - BER0 - MR
- Bl - MBRREDGIRON - RFDH - BEERGR N

Motor and Reducer

= Machine Tool Accessories * Cuttig Equipment - Bar Feeder
- Gilding Machine * Conveyor Equipment : Food Machine
- Screen Printing - Agricultural Machinery - Medical Equipment

B - i/ BRI
- TERRY - SR - X0 - BN - BREH
- R - MARENRIR0E - AN - BR

)
7% SESAME
www.sesamemofor.com




www.sesamemotor.com

PLANETARY GEARHEADS
TENRE®




\e

SESAME

PLANETARY GEARHEADS

))

www.sesamemotfor.com

TABLE OF CONTENTS Hi

TEARER

' PLANETARY GEARHEADS 1TEIVEER

01  Planetary Gearheads Series Lineup {TEREMERRIIE

03 Coding System BIERTESR
05 Planetary Gearbox 1TEIVBERS
Operation Manual BIERAEE
07  Planetary Gearbox with Motor TERIRMEE
Mounting Instructions ZRRHES
09 Selection of the Optimum Gearbox TBUIREAY R
PREMIUM TYPE (HELICAL GEAR) s R e E

11 PHL Series
19 PHFR Series
27 PHF Series
37 PGH Series

43 PUL Series

PRECISION TYPE (HELICAL GEAR) / BN R/

PRECISION TYPE (SPUR GEAR) EEEEL

49 PGLH Series
55 PGL Series
63 PGRH Series
71 PGR Series
77 PGFR Series
85 PGF Series

STANDARD TYPE (SPUR GEAR) EEEER

95 PEC Series
101 PEE Series

PRIMARY TYPE (SPUR GEAR) e EER

107 PBC Series
113 PBE Series
Ffi.119 Tightening Torque Table SHERHR IR




PLANETARY GEARHEADS

PLANETARY GEARHEADS SERIES LINEUP {TEiRFE&ERZ5IE

Output Shaft 47

Output Flange EFEEE Right Angle E&Z

PHL series PGH series PUL series PHF series PHFR series

High Precision High Performance High Radial Load
\ A‘

Sk

Premium Type
(Helical Gear)

TS E R e A

'
0

o
—
>
=z
m
3
>
P
=<
o
m
>
)
Ak
m
>
O
wn
%)
m
2
m
%)
=
=z
m
=
o

Precision Type
(Helical Gear)

W o A st FE 7
Lisked {K‘I' = Eid] PGLH Sseries PGF Series PGFR Series PGRH series £
"
=
. . %
Precision Type !I! ; e
AR
(Spur Gear) p %
BEEER m
PGL Series PGC series PGE Series PGR Series
Standard Type w
(Spur Gear)
CES L]

PEL sSeries PEC series PEE series

Primary Type

(Spur Gear)
ZHEEBR

PBC series PBE Series
High Ratio (max. i=1000) High Ratio (max. i=1000)
Products due to human error, natural disasters or other factors lead to poor or damaged, will not be covered under warranty. EREARREHAXKSEEARERFRAFE - F&
& <
01 | 7 sEsaue %7 SESAME | oo

www.sesamemotor.com www.sesamemotor.com




PLANETARY GEARHEADS

CODING SYSTEM EUSREH

fI2NRERME (Planetary) FILLIN DATA OF MOTOR EFERHH

FiR (Grade) H: E¥EZ3REE R Premium Type Helical Series
G: ¥&ZH Precision Series
E: EFEA Standard Series
U: E87E Heavy Duty Series
B: BLLEAE Muti-Ratio Series
T: ZHHEE Muti-Shafted Series

AREEEESN L JOEEERE Souare Housing with Flange
(Connection) C: Bf¢#ARE Round Housing without Flange =i
E: EIf¢BERE Round Housing with Flange |\I/‘|\(‘310r ]
R: BEAZ Right Angle
F: E&2EHEE Plate Type - r
H: SREMENEE (BARSHCETLTENHIEY) FRIERIAE - —
Square Flange Helical Gear ( Square Flange Helical Gear Motor Label:
for G Grade (Precision Series) Only ) 5 %ﬂ i L
LH: F5T 5 ERIEEE Square Flange Helical Gear Motor Model:
RH: EAREEEL Right Angle Helical Gear
FR: EIEBEFERE Oatput Flange Right Angle Type D

(4-90°)aF

ZA(h6)

(@)
C
(V)
4
(@)
=
m
=
wn
s
m
@
!
0O
>
=
(@)
)
<

-l
@B(h7)

SR (Size) 42:[142 60:0]60 90:[190 115:01115 142:01142 180:[1180 220:[1220 c OH

BOERLE EEiT Single Stage:3,4,5,6,7,8,9,10
(Speed Reduction &R, Double Stage:12,15,20,25,30,35,40,45,50,60,70,80,90,100
Ratio) ZEITN Muti-Stage: 125~1000 » #Hi% SPECIFICATIONS

&R (Backiosh)  PO: EBfE®E#R Micro Backlash
P1: ¥a®E4R Precision Backlash Motor Motor P.C.D Motor  Actual Length
P2: 7SI Standard Backiosh st Flange  gpgr  Flange f PO Flange of Backlash
' Bore ' Square Motor Shaft

TR RIE (Customer Specification) Dia.

FEHNE FSEOENT FEHRRE FEOEEE BMILPLE BHALES FSEERY BSENERE BRER
HiEREE (Motor Model)

oA(h6)  @B(h7) c D oE aF OH L PO/P1/P2
» EiEEERMIEES 5% CONNECTION OF MOTOR & GEARHEAD

=
=
*FASEETEARERECEEERHNT - RRESGERTRALEMEETE - BEEANNSB BRI
HIBRLARRER - EEIEE -

*Sesame Planetary Gearheads are produced under strickly exclusive pairing process to ensure accuracy

(m= moror ) (msm couar )(mmmums susH) (A INPUT-SHAFT ) ({TEES PLANETARY GEARHEAD )

and lifespan.
T—RAEEH - SEFEIR AR EIEAILAL - TEERAE
AR—RHE - EHER » BESATNRINT -
Use different bushes for At the custorner's request, we may special
different motor-shafts. process the connection hole where the
bracket joins the motor.
o fHERIE - HERWE - ADHNRFEREMESE  FERRTENNRMESE - MPLLERBIESIVPIEEE -
After the collar, the bush, and the input-shaft are securely assembled with the motor, please join the parts with the planetary
gearhead cautiously with a slight clockwise and /or counter-clockwise motion, untll the planetary gearhead engages the
input-shaft,
*EIEENERRET » FATLENERRE—F20,0000\F - UEBIHRE
Under nomnal usage and loading, our products come with a one-year or 20,000-hour limited warranty, whichever comes first.
) <
03 | 7 SESAvE 7z SEsamEl | g4

www.sesamemotor.com www.sesamemotor.com




PLANETARY GEARBOX OPERATION MANUAL fTEXNREMIRFRIAER

1LNOTE EEBER

1.1 Preparation before installation Z#A1%MH

B ERAAFERAE RFRBAE  BERARRE - FE
RAFREFAKBESARMERAFARGEE - &
RFRERARBEATABMERNRE - HRWK
RIREREF Z2ERS XS EEHEATETHRER
EEFERNYE AATRAREEURERE
SR - WEERE -

Please read this operation manual before using this
gearbox. Any problems caused by inappropriate
operation contrary with the manual, or damage
caused by natural disasters, or restructure the gear-
box without our permission, Sesame will not hold
any responsibility nor will the gearbox be cover by
warranty.

AATRNERRENBRBERERE—FA - REWH
FRA - EEMEAFARBERMBALELRE  EFEEM
O - ZATREERIERE -

Warranty start within one year after purchase the
gearbox. Within warranty period, if gearbox damage
is not caused by operation error nor by natural
disaster, then please send back the gearbox, we
should replace the damage.

RS 4% - IFE] - (RE - AREEEWARET -

Installation, disassemble, maintenance on the
gearbox, needed to be performing by trained
technicians.

B {kiRZEEE 2 BRAMRT - REMEER T oIk E
SREMEEAS  BETRASHEMBESEER
SRR -

According to the application and operation
environment, the gearbox temperature might be
raising after period of running. Please do not touch
the gearbox directly during operation, or right off
from operation.

05 | £ sEsAmE
www.sesamemotor.com

B ERPEOREEORET ZBYG - RERTE
EEEAEBOBAENERDE - DESA/Y
iR AFER T -

Do not touch any rotating components when
the gearbox is running. Ensure that the plugs
of the gearbox were inserted after installation.
Avoid any small object fall into the gearbox.

B REMAEESAY - ZRAED - F7NEGEE
HETERSERERELE - DB EEEEE -
Handle the gearbox gently during installation,
do not knock the gearbox by any tool, to avoid
the influence of running accuracy.

R SRERETTIRR RS - FARTERE
HEHRMARA -
Do not disassemble or modify gearhbox to
prevent injury or equipment damage .

B EERRATH AR - HRREERSES M -
TR -
Synthetic lubricant is sealed in gear there is no
need to change lubricant.

PLANETARY GEARHEADS

1.2 Installation environment limitation RiERFAIFRE

FESAN AR TARGRE - AHS T AZZ2EREREABRSRREIAER - AEREEEA -
Gearbox must be installed under following terms to prevent damages which are not covered by
warranty.

B AERZREREE - RERRRRE 2
WAL .
Gearbox is designed or manufactured, to be
used in the other of mechanical equipment
assembly.

m BRRENERARTRRESRNRE 2RI -
Avoid Gearbox used in flammable gas or corrosion
gas environment.

wm BE  AO8B85% - UG KRR -
Humidity: no more than 85%, in order to avoid
condensation.

w BREES - KEEHR -
Avoid direct sunlight, dust accumulation,

u FEFERRE-10°C~+90°C -
Operate temperature is between -10 °C to
+90°C.

m BE  FOHEEFEI000AR -
Operate altitude may not be higher than 1000m™® 3&%_7]@253339[{%3 4
above sea-level Avoid water or oil splashed.

B EgEEE R . u EARRFEE 7T -
Avoid continuity vibration or hit. Used in good ventilated place.

2.Gearbox Introduction ®iE# @

FEEHSRANKAL AR - ADRAREEERGE -
ENRAREEETREERE L -

Input
A iR

As shown below, the input side is for installing
the servo motor and the output is mounted

to application equipment. /

AN 753 BIR B AR R LUK e R I A -
EEARBENRE - BeilEEsE  BE
ZEBE - EREEAIRE

To ensure the product performance, both the
input and output ends must be protected
carefully to avoid any damage and cause
improper operation.

27 sesane
www.sesamemotor.com

5
=z
m
=
>
=
=<
o
m
>
=
o]
o]
x
o
")
m
=
b
=
o]
=z
<
>
=
=
>
—

WS TS BB M R




PLANETARY GEARBOX WITH MOTOR MOUNTING INSTRUCTIONS {TERE# S EREHRAZE

For General Type
1

SRBREREMREE
BIERE - W6 RN R
W REERRES -

Check the motor and
gearbox size. Clean the
mounting surface.

BRI RN T
WERENRRE - EINR
R R, -

Take off the plug from the
bracket. Revolve the set
collar until the bolt is
aligned with the hole.

3

BTRELREHE . m
ANE - ARETER -

Remove the key from the
motor shaft. Mounting the
balance key if necessary.

BRREMORYT - MOK/NER
HEWE -

Make sure the motor shaft size.
Choose the right bushing if necessary.

ERERATENR  BERERME
FahchiOiR - EIHRIRRAETE
HEEE -

As installing on flatted shaft, be
sure to align the collet gap over
the flat and the set collar bolt
perpendicular to the flat.

SRR NR(RL19R)2E
AHEN5% - KR1EAR
FF - iGARAGEEBN L -

Tighten the mounting bolts
in 1~4 order with torque
wrench to 5% specified
torque. (See Page 119.)

REARENBEARGERES .
SmUTAHR(RIINEH 2
HBAE - BHEEDRFEREMRR
SRAHRHR -

Install gearbox and motor
vertically. Tighten the set
collar bolt with torque
wrench to specified toeque.
(See Page 119.)

7

I RENR(R119E)EE
ZiBNE - RR1IZAEF -
FRRNRFEIRENE -

Tighten the mounting bolts
in 1~4 order with torque
wrench to specified

torque. (See Page 119.)

X E R -

Put the plug back.

2
07 | & SESAME
www.sesamemofor.com

For Hollow Spindle

PLANETARY GEARHEADS

1 2
#6 R E X BRI T -
SRRREREMAEE HRSENRM . ERME
HIERE - Mije R B IR T,
W RRERALT -
Take off the plug from the
Check the motor and adapter plate. Revolve the
gearboxsize. Clean the set collar until the bolt is
mounting surface. aligned with the hole.
WRBEMORT - MAX/NMER
3 EERE - 4
Make sure the motor shaft size.
Choose the right bushing if necessary.
ERERTER - HERERME
HTRELREHE - m FhithihaR - ENRRR ST
ANE - ARETER - HE2EE -
As installing on flatted shaft, be
Remove the key from the sure to align the collet gap over
motor shaft. Mounting the the flat and the set collar bolt
balance key if necessary. perpendicular to the flat.
5 6
REANEMEARRERES -
SRMURBAR(BLIIDEEH 2
LSRR NR(R1198)8# BAE - DEDEFEBENER
BAEMNS% - KR1ZANE IRMBE -
F - SRaGBEs L -
Install gearbox and motor
Tighten the mounting bolts vertically. Tighten the set
in 1~4 order with torque collar bolt with torque
wrench to 5% specified wrench to specified toeque.
torque. (See Page 119.) (See Page 119.)
7 8
R RANR(R1198) 2
ZHBNE - ER1IZANERF -
FRRNRFRIRGEHR -
Tighten the mounting bolts N ERER -
in 1~4 order with torque
wrench to specified torque. Put the plug back.

(See Page 119.)

/

27 SESAME
www.sesamemotfor.com

=)
>
5
=
B
(o)
A
=
3
>
g
5
=
=
o]
S
S)
=
=
o
=
=
=
=
@
=4

SN

T 55 B A T 2 2 D




ELECTION OF THE OPTIMUM GEARBOX

Selection Start

ED<60%
tuor <20mins.
(Eq.1)

@ Calculate the Ratio i(Eq.2)
Calculate the Ratio i(Eq.2) |~ Calculate the Mean Output
Torque T, (Eq.3)

Calculate the Mean Output
Torque T, (Eq.3)

Calculate the Max Acceleration
Torque T,,{Eq.4)

Select a Larger
Gearbox
Calculate the Max Qutput Speed n,, [rpm]
Select a Smaller Rati "~ Selecta Larger
Larger Motor if Needed = Gearbox

Calculate the Emergency Stop Torque T,,,, [Nm]

Select a Larger
Gearbox

Calculate the Mean Output Speed n, and the
Nominal Qutput Speed n,, of Gearbox (Eq.5)

Select a Smaller Ratio i in Larger
Motorif Needed

Selecta Larger
Gearbox

Calculate the Mean Radial F,, and
Axdal Loads F,, on Output Shaft a?aearbax (Eq.6}

Calculate the Permitted Radial F,,, and
Axial Loads F.,, on Output Shaft of Gearbox

Select a Larger Gearbox or
other Gearbox Seri

Select the Required Backlash and Shaft Option
Order your SESAME Gearbox

Recommended (for S5 Cycle Operation)
The general design is given for The optimal design is given for
J, Load Inertia

I, A
=<4 XJ, el 1, Motor Inertia

=

- Motion Profile
3
gL
3 £
2 Tl
o T
g
2
‘w-' Fy o F,
n* P
é‘ (LY ¢ 1
€ P hupf— =
§ e —
' i T '
L P P
FI Ro-ie-o
S E -
E nLZ L
H B I R Y I
o
]
1LED= X 100%, £, =t, +1,+1,
Index : a. Acceleration, <. Constant,
d. Deceleration, p. Pause (Eq.1)
n
2ia—"-
Moot

n, Output Speed of the Motor
n,.. Working Speed (Eq2)

3.7, = 3] P XTI X XEXT 2y X1 6T,
*lim

N, XL, XE4n,, X1,

(Eq3)

4T =T X P X, X
Wheref,is

T,a Max. Output Torque of the Mator
n Efficiency of the Gearbox (Eq.4)

5.nh=nu=L xXn,

2
_ n, Xt +n, Xt 4+n, Xt
LY

n.
]
nm_T

(Eq.5)

6.F,, = 3] XWX P X0 XUXE, St Xt XFy !
N, X, Xt 4n, Xt,

F =3' Xt XF,, X1, Xt XF, 240, Xt XF, 2
2m
31 N Xt X XY,

(Eqt.6)

© REWAORR

PLANETARY GEARHEADS

AT

ED<60%
£pon <20mins
(Eq1)

EFRENAE SN R Ft®ERLLI(Eq.2)
EHRRELI(EQ.2) R R M
T,{Eq.3)

FREETSRE
T,(66.3)

Lt bl S o]
T malEQ4)
EARANEN @
SRR ANMLIREN, [rpm]
n, BRI
n,;

SAFRBAG S

BRI | EARAREN

ﬁﬁlﬁ#&ﬂﬁgﬂzﬁgm]

T o KRR

o>

SRR N, B
FEWEEML RN, [Eq5)

@ EERAREFR R
By

RN RS
AR, RMAIF, E06)

RN L TEAEZ
TR, R AF
Pl RERAREH AT

SRR N R L R

EREAR AR

SHEMIEMN ENEE
—BNEARBARANTAY  ARENEAABARSNTAR

J J J, mmmm
= :
= 4XT, ; ), mamm

R,

MR

mmm

MBEER MaETRER
Pyl
b

1.ED= X 100%,t,, =1+t +1,
twd!
TR 2. K - ¢ SR
d. 9 - p. WL (Eq.T)
n,
28—
n, MEMLEE
L (Eq.2)

3.T,, =3 MR T XM XX Ty XE Ty
- lam

XL X T, X
n, Xt X140, XE, a3
AT, =T XiXEX R
1. R
10 e~t00
S 1,000~1,500
C 13 1500~2000
C16 2000~3000
T, BERAMLEE
n  HEEENSE (Eq4)
£ i arme]
Ny, =N, = T X n,
m Xt X en, Xt
- L EL,
= M
M= (Eq:5)

6.F,, = 3] TXURRIXNKIRE SN REy
N, Xt +n, XN, Xt,

F_ =3| MaXUXF2XN, XUXFE, M0, XUXF, 2
2
v X, X, Xt

(Eq.6)

wn
m
L
m
n
=
o
=z
(©)
—
—'
I
m
(@)
)
=
Z
=
<
(9]
m
>
=
@
(@]
b4
"
=
]
i)
B
H




\e

SESAME

©® www.sesamemotor.com

))

@D4s
¢D5

- PHL SERIES

12

1"




PLANETARY GEARHEADS

PHL SERIES FEATURES PHL%3%l Em4FE,

s31as THd

TR0 SH R AHBRET - FRRBES
ERERESEL » $BENES X
RIEBE -

Special locking mechanisms designed
of the output shaft ensure its integration
closely with positioning gear, power
transmission efficiency, and eternal

BEWVEEASRAEH BSREEERE
BEE - TSBERMENT » JIBSRENE
& - SEEREmERIT o

Alloy steel gear with unique heat treatment.
Additionally, with gear grinding processing to
get the best accuracy, high wear resistance

13

precision.

IEEERER HIMRE—RME » BRIRIER
RENERAEE - EIRAHBMIERLN
HREaamED -

Planetary arm bracket and output shaft are
one-piece constructed, setting bearing apart for
larger span to reach the largest reverse rigid and
contribute high axis radial load capacity.

HH708 SSEEECRE R RS AR IR AR B
PEH  RERESIN  EREMRSH -
Grinding process to smooth surface of output
shaft, and with oil-seal to minimum friction
coefficient and reducing start up load; result
in the best seal-ability and extended lifespan.

il

PHLAS R IRIEER MRS » IRAHETES
RIFI0%L - FIKIRIEARES - TIREEH
[T ~ SEFERSESEEN@A - E5
BAHIGE - BEERRETREEEmI
T REHEEBER - S8R EBT
IF ~ ERERRFMITEBRS
PHL series helical gear design, enhance
tooth engagement rate of 30% or more,
ial helix design, which red the
axial thrust, allowing high-speed servo
motor input, maximum torque output.
Precision gear ign and professi
gear processing create a low backlash
operation, high efficiency, smooth
running, low noise and long life of the
planetary gear.

and high impact toughness.

=)

ABERRMREREEARITEEERA » B
IEwmiEERe  DIREREDTHNRILE -
The sun gear bearing is placed directly into
the planetary arm bracket, the overall
mechanical structure designed to ensure
concentricity of the transmission compo-
nents.

RAEEERAR REERERH - BRaii
HEERE » FERMEE - TERPIHE o
FIP65RIFES MM BHIRE » TR KA
BRE -

High-tech oil seal design on the upper lip
guard against dust intruder, lower lip to guard
against oil leak. Protection grade IP65
safeguards fully avoid leaking problem, and
given it maintenance-free.

WAREFEANHERTERBRRIS
B HRBTBET RO - BRSERT »
HENENRNEREBEEIEE
Input-end and motor shaft are coupled
through a dynamic balanced collar clamping
mechanism to ensure connection interface
concentricity and zero slip power transmis-
sion at high speed.

I2SRESTERAESHAME » BEBIIASR
588 - BUZREAHBEER ) HEAE - B84
BRMEREHE -

SUEREEEIRGE  REAMSE 2%
ﬁz » RZERE TR - SERETER
BCAEE -

Advanced motor bracket design coupled with
the input shaft bushing is easy to mount to

AEERRARF NI » BFEENRE SR - BCEmEREERIIT - Planet gear transmission interface equipped with any servo or stepper motor.
AEEEEE 5l MBS - needle bearings, full needle roller bearings
SOERERRRERE  WE  WEH - RESENRRERTER - aligned without retainer achieve maximum
The gear box and intemal gear ring are one-piece constructed, and then processed with exposure but smallest gap tolerances. Enhance
advanced Germany gear shaper machinery for high-precision, high torque and abrade over-all gear structure rigid and output torque.
consumption.
Advanced electroless nickel plating surface treatment resists scratch and corrosion. Suitable
for stringent require of high-tech equipment.
Praducts due to human error, natural disasters or other factors lead to poor or damaged, will not be covered under warranty. EREARREL FRAER - K

)
% SESAME
www.sesamemotor.com

&)
7= SESAME
www.sesamemotor.com

14




PHL Single Stage Dimensions PHLEFSMER M PHL Double Stage Dimensions PHLEERSERTH e
=
f_g
c8 o
NN @D2 L11 S8 a
2 T
——>|c—>
0o —|—| - Jel &
i °
B By
— | I bl
L4 sl
[
H M4
L3 ||LT C4
L2 L8 c8
& co
a ca
S
I-_—-i- (o]
T 1B [——] £\I_—ly- 1 It
=] gl = i. 3]
é- g e L
L4 | S
(%]
L3 | L7 -ﬂl )
L2 L8 c8
Specifications 1% Unit:mm Specifications R1& Unitmm
Rt Dimensions PHL42 PHL60 PHLSO Rt Dimensions PHL42 PHL60 | PHL&0T PHLS0 I PHLI0T
D1 50 70 100 D1 50 70 100
D2 34 5.5 6.5 D2 34 55 6.5
D3 he 13 16 22 D3hs 13 16 22
D4 g 35 50 80 D4 gs 35 50 80
D5 15 25 35 D5 15 25 35
D6 M4x0.7P M5x0.8P M8x1.25P D6 M4x0.7P M5x0.8P MB8x1.25P
D7 56 80 118 D7 56 80 118
L1 42.6 60 90 L1 426 60 90
L2 26 37 48 L2 26 37 48
[t 25 7 10 L3 55 7 10
L4 1 15 15 L4 15 1.5 15
L5 15 25 32 L5 15 25 32
L6 2 2 3 L6 2 2 3
L7 4 6 8 L7 4 6 8
18 283 37 46 L8 553 70 | 655 86 | 785
L9 4 4 45 Lo 4 4 45
L10 14 16.5 20.5 L10 14 16.5 20.5
111 29 355 405 L11 29 355 29 405 355
c1? 46 70 90 c1? 46 70 46 20 70
(& M4x0.7P M5x0.8P M6x1.0P G M4x0.7P M5x0.8P M5x0.8P Mé6x1.0P M5x0.8P
€32 8 <14 $19/<24 c3? ] <14 <8 s19/524 <14
ca? 27 37 47 ca? 27 37 27 47 37
€525 30 50 70 C5%¢¢ 30 50 30 70 50
€62 4 4 6 €62 4 4 4 6 4
c7? 426 60 90 c7? 426 60 426 90 60
cg? 385 46 55 cg? 385 46 38.5 55 46
c9? 92.8 120 149 [<H 119.8 153 141 188 1725
B 5 5 6 B 5 5 6
H 15 18 245 H 15 18 245
* Cl~CORARMMFEBBARR S MRAHANBERE. K C1~C9 are motor specific dimensions(metric std shown ), * Cl~-CORARFMEFEBBER I, WEFMABHBERE. % CL~C9 are motor specific dimensions{metric std shown ),
Size may vary according to motor flange. Size may vary according to motor flange.
* RRAFEEHEN MR RAE TR WERET SN, * Specification subject to change withaut notice. * RAFERH SN R BEAETR A MERETEN. * Specification subject to change without notice.
15 »,*F—" SESAME r,.‘-? SESAME 186
www.sesamemolor.com www.sesamemotor.com




PHL Specifications Table PHL¥AEREFHTR
148 Specifications sﬁge A PHL-42 PHL-60 PHL-90
3 19 53 145
4 20 55 150
5 7 4 40
6 4 35
1 7 4 44 25
8 2 4 11
9 1 95.
10 1 37 95,
g | PHL-42 PHL-60(T) PHL-90(T)
BEWMHIE TN
i Nem 15 19 53 145
Nominal Output Torque 2 20 55 150
25 17 54 140
30 17 54 140
35 17 54 140
40 17 54 140
2 5 17 sa 140
50 17 54 140
60 15 46 135
70 4 44 125
80 2 41 110
90 1 37 95
100 1 37 95
SEN4E Tanot Nis i 3.0 fEERE# L HAE (3.0 times of Nominal Output Torque)
Emergency Stop Torque (* BRI H4E Max. Output Torque T2B =60% of Emergency Stop Torque}
BEHABE NN
Nominal Input Speed pm 12 3-100 5000 5000 4000
BAHABE Nimax
Max. Input Speed pm 12 3-100 10000 10000 8000
- 1 3-10 21 =1 £1
Micro Backlash PO aremin 2 12-100 <3 <3 <3
KR I 1 3-10 <3 <3 <3
Precision Backlash P1 aremin 2 12-100 <5 <5 <5
mEER ) 1 3-10 <5 <5 <5
Standard Backlash P2 ik 2 12-100 <7 <7 s7
o i Nem
RigAI4 Torsional Rigidity Jarcmin 12 3-100 2.5 6 12
BRI Faret
Max. Radicl Load Nem 12 3-100 760 1570 2780
BRI F2an !
Max. Axial Load N 12 3-100 410 750 1870
;8 Operating Temp. °C 3-100 -10°C ~+90°C
fE @ Service Life hr 3-100 20,000 (10,000/ =443 Continuous operation)
fiES % 1 3-10 297%
Efficiency 2 12-100 294%
=8 " 1 3-10 06 13 35
Weight 9 2 12-100 09 2.0/1.6 5.6/3.9
2287318 Mounting Position - 12 3-100 R @Ay direction
%% & Noise Level * dBA/Im 12 3-100 56 58 60
Pji=#% & Protection Class - 12 3-100 P65
3% Lubrication - 12 3-100 2EREEM Synthetic Lubricant
R HERE Inertia(1)
#i#Stage JiEEERatio Efiunit PHL-42 PHL-60 PHL-90
3 0.03 023 0.97
1 4 0.02 018 0.67
5 0.02 017 0.65
6/7/8 0.02 014 0.60
9/10 Kg » em? 0.03 0.14 0.58
Hi%¥Stage SHELGRatio PHL-42 PHL-60(T) PHL-90(T) =
15/20/25 0.02 0.17(0.02) 0.65(0.17) c
2 30/35/40 0.02 0.14(0.02) 0.60(0.14) c c
45/50/60/70/80/90/100 0.02 0.14(0.02) 0.58(0.14) c -
* 1. B ES3E 100rpm s EFRE@ L O E Applied to the output shaft center @100rpm. L e .
*2.3000rpm Z# = Measured at 3000rpm with no load -« C
XEATFREYU EMRFBBTREERSTES - The above figures/specifications are subject to change without prior notice. 50 - <
s c « «
Products due to human error, natural disasters or other factors lead to poor or damaged, will not be covered under warranty. ~ P R b c «
EREA FRZER - F . < L C A &
e e @ C
17 @’0’5 SESAME ';,_;‘3 SESAME 18
www.sesamemofor.com www.sesamemofor.com




=)
/V/
@ ® wvaesSarémMroEom
L10
& L4 _ L6
o]
Bl Lo ¥
&
32l & of = fis] > o
= SEEER IS
| r
L $

PHFR seres

20




PLANETARY GEARHEADS
PHFR Single Stage Dimensions PHFREEERSME R ~HE PHFR Double Stage Dimensions-1 PHFREERSMERFHE-1
L10 L10
& L4 L6 = L4 L6
A, g 13 ,_; s
= S E
TR R z
— I 2
~ = |
583 8 88 %5 . EEEE _
EEREEREE L] CEERERER]
== y 8 i > n B
8
Tl 1 =1 ¥ E.- 1 =ra
= 0 == [t
g gyl gl Al 2] g ae|| ||i@tl®
Hr-——1 | N He---d | 8-
0Cd (2]
ocs” 5™
Specifications #R1& Unit:mm Specifications & Unitmm
R~ Dimensions PHFR42 PHFR60 PHFR90 PHFR115 PHFR142 PHFR200 RSf Dimensions PHFR42 PHFR60 PHFR90 PHFR115 PHFR142 PHFR200
DLu7 - - 315 - - - D1h7 - - 315 - - -
D2 = = 50 = = = D2 = = 50 = - -
D3 h7 - - 63 = = - D3 h7 - - 63 = = =
D4 n7 = - 90 - = = D4 n7 = = 90 = o =
D5 % 8 109 - - - D5 = # 109 - # #
D6 = s M6x1.0P = = 5 D6 = - Mé6x1.0P = = -
D7 - - 118 - - - D7 - - 118 = = -
D8 H7 = = 6 s ® = DBH7 = & 6 - - -
D9 - - 5.5 - - - D9 - - 55 - - -
D10 - - 89.2 & - - D10 - - 89.2 - - -
11 = = 12 = = . 1 = = 12 - = =
L2 o = 12 = - = 2 & = 12 & = =
L3 - - [ - - - L3 - - 6 - - -
L4 - - 30 - - - L4 - - 30 - - -
L5 - - 10 - y < L5 . , 10 = - .
L6 - - 7 - - - L6 - - 7 = & =
L7 - & 35 & 2 = L7 # i 55 = = B
L8 - - 22 - - - L8 - - 22 - - -
19 N s 7 - - . 19 o o 7 . . .
L10 = - 1736 = = = L1o & = 2186 = = =
c1? - - 90 - - - ci2 - - 90 - - -
«? - - MBxL.0P - - - FE - _ MBxLOP E _ N
c3? = - <19/<24 - ~ - c3? - - <19/<24 - - =
@’ - - 44 - - - c? - - 44 - - -
C5%Fs - - 70 - - - €578 - - 70 - - -
[ - - 5 - - - c6? - - 5 - - -
? - - 90 - - - ol - - 90 - - -
cs? : : 35 : : : c8? = = 35 : s :
c9? - » 137.5 - - - c9? - - 137.5 - - -
% Cl~-CORANEZRFBEHR T WKAEANFERE.  * C1~C9 are motor specific dimensions{metric std shown ), * Cl~-CORANEEREEBER T MWk MERNTERE. % CL~CY are motor specific dimensions{metric std shown ),
Size may vary according to motor flange. Size may vary according to motor flange.
* ZATEMSA ERBREBTRHBERSTEA. * Specification subject to change without notice. * EATEMANN ERBRRETRHBERETSA. * Specification subject to change without notice.
21 »};“’“ SESAME ?}'—g SESAME 22
www.sesamemofor.com www.sesamemotor.com




PLANETARY GEARHEADS

PHFR Double Stage Dimensions-2 PHFREEZSMEIR T -2

0 L10 PHFR Flange Dimensions PHFRZMERH
1)
o L3
B
T
FR.
n ol %8 k
o O 3 =] - S
S B B B
-1
O
Z 5
r—ka
1 1
= ! ! | I
= 3 8 ! I
-] 1
ms IR C1| S
F6
C5
Specifications & Unit:mm PHFR142
R~ Dimensions PHFR60T PHFR90T PHFR115T PHFR142T PHFR200T PHFR255T
D1n7 - & 40 = = s
D2 = = 63 o = -
D3 h7 - - 80 = = -
D4 7 - - 110 = = =
D5 - - 135 - Z &
D6 = s M6x1.0P = - -
D7 - - 145 = = ”
D8 vz = = 6 . - -
D9 - - 5.5 - - &
D10 - - 109.2 - 5 =
L1 - & 12 - % -
L2 - - 135 - - -
L3 - 5 6 = % 5
L4 = = 29 = = =
L5 - - 10 - - -
L6 - = 8 = = = e . ]
= . . 5 . . . Specifications & Unit:mm
L8 - - 22 - - =
L9 = - 7 = = = Rt Dimensions PHFR42 PHFR60 PHFR9CG PHFR115 PHFR142 PHFR200
L10 = w 230.6 — = = D1lu7 12 20 315 40 50 80
€1% - - 30 - - - D2 20 3155 50 63 80 125
2?2 = = Mé6x1.0P = - - D3h7 28 40 63 80 100 160
c? - - <19/s24 - - - D4h7 47 64 %0 110 140 200
ca? = s 44 . - - D5 67 79 109 135 168 233
5% H & 70 & 3 - D6 M3x0.5P M5x0.8P M6x1.0P M6x1.0P M8x1.25P M10x1.5P
[ - - 5 - - - D8H? 3 5 6 6 8 10
72 - - 90 - - - D9 34 45 5.5 55 6.6 9
€8’ = : 35 : : -
c9? = = 150 = = =
* AATAMN N ERBAEETRAMERLTE. * Specification subject to change without notice.
% Cl~-CORANEZRFBEHR T WKAEANFERE.  * C1~C9 are motor specific dimensions{metric std shown ),
Size may vary according to motor flange.
* ZATEMSA ERBREBTRHBERSTEA. * Specification subject to change without notice.
23 r;"' SESAME ,;?' SESAME 2

www.sesamemofor.com www.sesamemotor.com




PHFR Specifications Table PHFR{8E/1EHE

#48 Specifications S%Ege WAL | pHFR42 PHFR60 PHFR90  PHFR-115 PHFR-142 PHFR-200 PHFR-255
3 - 40 105 180 310 580 1100
4 16 43 110 240 450 1100 1700
1 5 17 50 130 290 530 1200 1900
7 14 44 125 270 450 1100 1650
10 11 37 95 220 360 900 1450
14 14 44 125 270 450 1100 1650
20 1 37 95 220 360 900 1450
Jom | AL | pppr42 PHFR-60(T) PHFR-90(T) PHFR-115T PHFR-142T PHFR-200T PHFR-255T
BEMILAIE TN Nem tage Ratio
Nominal Qutput Torque 15 - 40 105 180 310 580 1100
20 16 43 110 240 450 1100 1700
5 25 17 50 130 290 530 1200 1900
30 17 50 130 290 530 1200 1900
35 17 50 130 290 530 1200 1900
40 17 50 130 290 530 1200 1900
50 17 50 130 290 530 1200 1900
70 14 44 125 270 450 1100 1650
100 1 37 95 220 360 900 1450
140 14 44 125 270 450 1100 1650
200 1 37 95 220 360 900 1450
=S J4E Tanor N fii 3.0 FEERM L 4 (3.0 times of Nominal Output Torque)
Emergency Stop Torque (* |A#E L H4E Max. Output Torque T2B =60% of Emergency Stop Torque)
Nfﬂﬁ?{ﬁﬁﬁ Sr:;:e d rpm 1,2 3-200 5000 5000 4000 4000 3000 3000 2000
ﬂ,;:)ﬁﬁ;ﬁ;:: ;x rpm 12 3-200 10000 10000 8000 8000 6000 6000 4000
BREER ) 1 3-20 - - <3 <2 <2 <2 <2
Micro Backlash PO arcmin g 15-200 - - <5 <4 <4 <4 <4
o ) 1 3-20 <5 <5 <5 <4 <4 <4 <4
Precision Backlash P1 aremin 2 |15200| =7 <7 <7 <7 <7 <7 <7
EEER ) 1 320 <7 <7 <7 <6 <6 <6 <6
Standard Backlash P2 arcmin 2 15-200 | =9 <9 <9 <9 <9 <9 <9
BB+ Torsional Rigidity /;“m‘r":i‘n 12 3-100 6 12 28 75 130 400 920
Miﬁgﬂﬁijf;m Nem 12 | 3100 | 43 125 260 503 1140 3430 6600
ﬁi’mﬂg E;‘:dl N 12 3-100 1015 1340 2450 3890 8360 15500 28500
#EFRE Operating Temp. " 3-100 -10°C ~+90°C
{EF=FmService Life hr 3-100 20,000 (10,000/ #4428 Continuous operation)
= % 1 3-10 295%
Efficiency 2 12-100 292%
B2 1 3-10 10 26 6.6 135 251 50 85
Weight ko 2 12-100 | 11 33/29  86/10 148 26.7 55 88
22457518 Mounting Position - 12 3-100 fERF5EAny direction
I2E1& Noise Level 2 dBA/Im 12 3-100 62 64 66 68 70 72 74
Bh#%5#8 Protection Class - 12 3-100 P65
#838 Lubrication - 12 3-100 EHEEH Synthetic Lubricant
FEEEEHIRE Inertia(J1)
#i%Stage JHitERatio B fiTunit PHFR-42 PHFR-60  PHFR-90 PHFR-115 PHFR-142 PHFR-200 PHFR-255
1 3/4/5/1/9 0.06 040 2.28 6.87 242 698 1382
10/14/20 005 030 145 476 145 503 1036
Hi¥Stage i iELERatio Kg » cm? PHFR-42 PHFR-60(T) PHFR-90(T) PHFR-115T PHFR-142T PHFR-200T PHFR-255T
5 15/20/25/35 006 040(008)  2.28(0.72) 3.02 7.83 277 803
others 005 0.30(006) _ 145(0.38) 164 5.00 159 553
* 1. B 883K 100rpm B, {EFR A Bk 0\ 8 Applied to the output shaft center @100rpm.
* 2.3000rpm Z=#EH Measured at 3000rpm with no load
HKEAT AR FBESREBTRAIEELLTEH - The above figures/specifications are subject to change without prior notice.

Products due to human error, natural disasters or other factors lead to poor or damaged, will not be covered under warranty.

EREARK

FRIAE - T

<
25 | & sEsame
www.sesamemofor.com

2 0 0 0 0 0 0O
®a®a a8 00 0

PLANETARY GEARHEADS

W

&
&

,’qq'\ﬁ'\
a0 0 b

=
% SESAME
www.sesamemofor.com




co

PHF scries

| S

.

%/MV////&V//I//I-/J.' |
TEES, i =
_

: o[ ITE

48Aav®

SESAME
www.sesamemotor.com

<,
=

27




29

PHF SERIES FEATURES PHF#:% EmR%E

ERFRBERESER - BTRRESRERE
- AEESERARDIT - LM EEAINEE -« BN
R R -

Alloy steel gear with unique heat treatment.
Additionally, with gear grinding process-ing to get
the bast v, high wear and high
mmahunmandhlghmmmughnm

\. J

IEEERRE MR —NARN « BAEERR
SERER » TIRTEMICI R R WA R R
75 » ISR ERERIARAREE  TIED BOCHRAI
HRHDMEE SR NREQRMEEA -
Planetary armn bracket and output shaft are one-piece

PLANETARY GEARHEADS

TERNMRNTERAHAME KA T2RGS .
glﬂlmﬂld\lﬂﬂﬁ » IEE R R

Planet gear transmission interface equipped with needle
bearings, full needie roller baarings aligned without retainer
achieve maximum exposure but smallest gap tolerances.
Enhance over-all gear structure rigid and output torque.

W ARELE A TR BRI I T
HRRERE RO - EEENET - BaT
ENRLEREREDIWE -

Input-and and motor shatt are coupled through
a dynamic balanced collar clamping mechanism
to ensure connection Interface concentriclty and
zero slip power transmission at high speed.

constructed, using tapered roller bearings can bear the
axial load and radial load that are more than desp
groove ball bearings. Setting the bearing apart for
larger span to reach the largest torsional rigidity and
contribute high axial load and radial load capagity.

M SR S AR R AR
BARVERDAN  REREES
HE=(EF M E MR rh a7 AR
S AT R - AR 2

FEMIEEIRIRET  BOA AT .
LHEES  ORSBERECOE - SER
EsEMEES -

Advanced motor bracket design coupled
with the Inpurt shaft bushing Is easy to
molnt to any 8arvo of tepper motor.

Fy2rg -

Grinding precess to smooth surface
of output shaft, and with oil seal io
minimum friction coefficient and
reducing start up load; resuft in the
best seal-ability and extended lifespan.
Hollow out-put shaft connect perfactly
with circular flange drastically reducing
the installation space.

PHEFZIEARRCE | OIS FFEAR RIS
IREVEA » BEHRAHE DS - HAOMMR
HRZE7ARET » CTAETC N EEME ISR » X
¥R 2R - WA R AR B
EEWNT - WEHEEREN - SR

& seshur
WWW.S85aMamotor.com

SCERRRRERE  WE - W - BES
EBESRHARETTER - SRS — M
TR - EREERRREENNT - REEWE
B ®i0 RS -
mmmmuanngnm

resists h and
Suitabla for stringent require of high-1 tech
equipment. The gear box and Internal gear
ring are cne-plece constructad, and then
processad with advanced Germany gear shaper
machinery for high-precision, high torque and
abrade consumption.

» ERERENGN IEREN -

PHF series overall design suitable for
combination operation with servo motor
high-speed input and achieves maximum
torque output. Hollow out-put shaft
connects perfectly with circuler flange
drastically reducing the installation space.
Praecision helical gear design and gear
processing create a planetary gearhead
with low backlash operation, high efficiency,
low noise and long lifespan.

AR C Rl  TERhE -
EEARE + IR

High-tech oil seal design on the upper lip guard
against dust intruder, lower lip to guard against
oil leak. Protection grade IP85 safeguards fully
avoid leaking problem, and given it maintenance-free.

Products due to human error, natural disasters or other factors lead to poor or damaged, will not be covared under warranty. B@E A RSN

2% sesame
WWW._sesamemaotor.com:

30




PLANETARY GEARHEADS

PHF Single Stage Dimensions PHFELERSMELRE<T PHF Double Stage Dimensions-1 PHFE&ESMEIR T H-1
ol ]
£9 L4 |6 L8 cs -
L4 L6 L8 c8 L'i H c1
g L3 LY LT - T
=) c1
A B
_ il
=10 5 = o I-E
~| 10 E- ol :ﬁh IE %l%l gj g ) 1 s
HREE - 118 ’ .
il = 1 =
I a1 x 8 B~ o c6 (3] D
1= & 2 | |o X X o ca c2
ez [ ol X ca Al c2 )

° °g 2

6%

o

Specifications 1§ Unitmm Specifications & Unitmm
R Dimensions PHF42 PHF60 PHFS0 PHF115 PHF142 PHF200 PHF255 R~F Dimensions PHF42 PHF60 PHF90 PHF115 PHF142 PHF200 PHF255
D1ny 12 20 315 40 50 80 . Dlny 12 20 315 R R . R
D2 20 315 50 63 80 125 i D2 20 315 50 i @ = &
D3 h7 28 40 63 80 100 160 - D3h7 28 40 63 = = = =
D4 h7 47 64 90 110 140 200 - D4 n7 47 64 a0 = - - =
D5 67 79 109 135 168 233 - D5 67 79 109 - - - -
bs M3x0.5P M5x0.8P M6x1.0P M6x1.0P M8x1.25P M10x1.5P i D6 M3x0.5P M5x0.8P M#6xL.0P - 5 5 e
D7 72 86 118 145 179 247 - D7 72 86 118 - - - -
D8H7 3 5 6 6 8 10 - D817 3 5 6 - - - -
D9 34 4.5 5:5: 5.5 6.6 9 - D9 34 4.5 5.5 - - - -
D10 60 70 95 120 152 212 - D10 60 70 95 2 z = =
D11 46.2 63.2 89.2 109.2 139.2 199.2 - D11 46.2 63.2 89.2 - = & 2
L1 4 8 12 12 12 12 - L1 4 8 12 - - 2 -
L2 6 7.2 12 13.5 16 22.5 - L2 6 7.2 12 - - - -
13 3 3 6 6 6 8 i 13 3 3 6 = i = =
L4 185 19.5 30 29 38 50 - L4 195 195 30 - - " -
L5 7 7 10 10 146 15 - L5 7 7 10 - - - -
16 4 4 7 8 10 12 s 16 4 4 7 = . « .
L7 5 7.7 8 10 12 17 - L7 5 7.7 8 - - - -
L8 25 375 36.5 54.5 65 92 - L8 54.5 72.5 81.5 - - - -
L9 4 6 7 7 7 10 = L9 4 6 7 - - - -
[ai 46 70 90 115 145 200 - c? 46 70 % - - - -
o M4x0.7P M5x0.8P M6x1.0P M8x1.25P M8x1.25P M12x1.75P - (&7 M4x0.7P M5x0.8P M6x1.0P - 5 = =
c3? =8/<11 <14 £19/<24 524/<32 <35/38 <50 - c3? =B/s11 <14 <19/=24 - - - -
ca? 281 365 412 511 697 81 - ca? 281 364 412 - - - -
€5 %rs 30 50 70 95 110 1143 - 5256 30 50 70 - - - -
62 4 4 6.7 6 85 6 - €6° 4 4 67 “ T . T
c7? 42 60 90 115 140 182 ] c7? 42 60 20 - s 3 %
ca s 16,5 19 25.5 30 38 40 - cg? 16.5 19 255 - - - -
co? 748 92.5 107 1315 1715 215 = co? 1025 127.5 1511 = = = =
c10? 74 9 113 139 178 21 : c10? 74 9 113 - = = s
oD 56x2 66x2 90x3 110x3 145x3 200x5 & oD 56x2 66x2 90x3 % & Z H
% Cl~-CORANEZRFBEHR T WKAEANFERE.  * C1~C9 are motor specific dimensions{metric std shown ), * Cl~-CORANEEREEBER T MWk MERNTERE. % CL~CY are motor specific dimensions{metric std shown ),
Size may vary according to motor flange. Size may vary according to the motor flange.
* ZATEMSA ERBREBTRHBERSTEA. * Specification subject to change without notice. * EATEMANN ERBRRETRHBERETSA. * Specification subject to change without notice.
31 »,‘*;‘;‘-‘ SESAME »;,.Q SESAME 32
www.sesamemolor.com www.sesamemotor.com




33

PHF Double Stage Dimensions-2

PHFEERSEIR T E-2

PLANETARY GEARHEADS

PHF Flange Dimensions PHFEWMER TE

PHF142
PHF200
PHF255

Specifications 81& Unitmm
Rt Dimensions PHF42 PHF60 PHF90 PHF115 PHF142

Dlnu7 12 20 315 40 50

D2 20 315 50 63 80

D3 n7 28 40 63 80 100
D4 n7 47 64 90 110 140
D5 &7 79 109 135 168
D6 M3x0.5P M5x0.8P Mex1.0P M6x1.0P M8x1.25P
D817 3 5 6 6 8

D9 34 45 5.5 55 6.6

[o1]
L8 . C8|
o ]:l? &
EEE ] e
s s 9 8 L
h
g = &
C6
[of ] C‘,
Specifications R1& Unit:mm
Rt Dimensions PHF60T PHF90T PHF115T PHF142T PHF200T PHF255T
D1h7 20 315 40 50 80 -
D2 315 50 63 80 125 -
D3h7 40 63 80 100 160 -
D4h7 64 90 110 140 200 -
D5 79 109 135 168 233 -
D6 M5x0.8P M6xL.0P M6x1.0P M8x1.25P M10x1.5P -
D7 86 118 145 179 247 -
D8H7 5 6 6 8 10 e
D9 45 55 55 66 9 -
D10 70 95 120 152 212 -
D11 63.2 89.2 1092 1392 199.2 -
L1 8 12 12 12 12 -
12 72 12 135 16 225 =
13 3 6 6 6 8 -
L4 19.5 30 29 38 50 -
L5 7 10 10 146 15 -
L6 4 7 8 10 12 B
L7 77 8 10 12 17 -
L8 65.2 695 935 110 1617 -
L9 6 7 7 7 10 -
c1? 46 70 90 115 145 -
22 M4x0.7P M5x0.8P M6x1.0P M8x1.25P M8x1.25P -
c3? <8/<11 <l4 <19/<24 <24/<32 <35/<38 -
ca? 281 365 412 511 697 -
C52¢ 30 50 70 95 110 -
C6? 4 4 6.7 6 85 -
c72 42 60 % 115 140 5
c8? 16.5 19 255 30 38 -
c92 113.2 138 163.1 198 281 =
c102 74 9 113 139 17.8 -
oD 66x2 903 110x3 145x3 200x5 -

* Cl~CORANRE R MR B KA A N B R E.
* ZATEFMSAN ERERBETRHBERETEA.

o
7= SESAME
www.sesamemolor.com

Size may vary according to motor flange.

* Specification subject to change without notice.

% C1~C9 are motor specific dimensions{metric std shown ),

* ARATEMEHE N ERSRRETR N WERETEA.

* Specification subject to change without notice.

www.sesamemotor.com

72 SESAME

34




PLANETARY GEARHEADS

PHF Specifications Table PHFi#&EREHE

#iA# Specifications M. | BEL | pHR42  PHF-60  PHF90  PHRALS  PHF-l42  PHF-200  PHF-255
3 - 40 105 180 310 760 1240
4 16 43 110 240 450 950 1600
1 5 17 50 130 290 530 1260 2050
7 14 44 125 270 450 1150 1850
10 11 37 95 220 360 960 1500
i WAL | pHE4> PHF-60(M PHF-0( PHF-1ST  PHF-142T PHF-200T  PHF-255T
15 - 40 105 180 310 760 1240
Norﬁn&;ﬂ)ﬁ z;ﬁ -Trg:que Nem 20 16 3 110 240 250 950 1600
25 17 50 130 290 530 1260 2050
30 17 50 130 290 530 1260 2050
2 35 17 50 130 290 530 1260 2050
40 17 50 130 290 530 1260 2050
50 17 50 130 290 530 1260 2050
70 14 44 125 270 450 1150 1850
100 1 37 95 220 360 960 1500
=ENE TanoT Nem 3.0 BT H4E (3.0 times of Nominal Output Torque)
Emergency Stop Torque (* |AEH L H4E Max. Output Torque T2B =60% of Emergency Stop Torque)
N fﬂﬁgﬁ?ﬁ Sr:’l:e d rpm 1,2 3-100 5000 5000 4000 4000 3000 3000 2000
?ﬂfﬁﬁ;ﬁgg ;x rpm 12 3-100 10000 10000 8000 8000 6000 5000 4000
BREBER y 1 3-10 52 s2 £2 £1 =1 =1 <1
Micro Backlash PO arcmin 2 12-100 | =4 <4 <4 <3 <3 <3 <3
mEER A 1 3-10 <4 <4 <4 <3 <3 <3 <3
Precision Backlash P1 aremin 2 | 12700 | <6 <6 <6 <5 <5 <5 <5
R ! 1 3-10 <6 <6 <6 <5 <5 <5 <5
Standard Backlash P2 arcmin 2 12-100 | =8 <g <8 <7 <7 <7 <7
B4 Torsional Rigidity /g‘m'"’]?n 12 3-100 6 12 30 80 150 450 1000
Mﬁﬁfﬁﬁfmﬁ:ﬂt Nem 12 | 3100 | 43 125 288 503 1470 2950 6500
ﬁi’mﬂg If;‘:dl N 12 3-100 1015 1340 2868 3890 9850 12560 21850
AR E Operating Temp. °C 3-100 -10°C ~+90°C
R Service Life hr 3-100 30,000 (15,000/ ###3E® Continuous operation)
e % 1 3-10 297%
Efficiency 2 12-100 294%
EE 1 3-10 0.7 15 33 6.2 13.6 321 58.8
Weight ka 2 12-100 | 11 23/18  60/41 8.1 179 386 725
22457518 Mounting Position - 12 3-100 fERF5 ANy direction
I2E1& Noise Level 2 dBA/Im 12 3-100 56 58 60 63 65 67 70
Br#%5#% Protection Class - 12 3-100 P65
#38 Lubrication - 12 3-100 ZEMEBEH Synthetic Lubricant
FUEHBENRE Inertia(1)
#i%Stage JHixtERatio B fiTunit PHF-42 PHF-60 PHF-90 PHF-115 PHF-142  PHF-200 PHF-255
3 - 019 0.72 235 9.05 2980 7250
4 002 018 067 166 7.17 2586 5821 Vi
1 5 002 0.17 065 1.50 652 2363 5436 N
7 002 0.14 0.60 145 6.17 2292 54.12 -
10 Kg » cm? 002 014 0.58 141 6.10 2273 5398 e
Ei%{Stage A tERatio PHF-42 PHF-60(T) PHF-90(T) PHF-115T PHF-142T PHF-200T  PHF-255T o E
15/20/25 002 017(002)  065(0.17) 065 150 652 2363 = O
2 30/35/40 002 014(002)  0.60(0.14) 060 145 6.17 2292 3 =l
50/70/100 002 014(002)  058(0.14) 058 141 6.10 2273 288
* 1. @ E83E 100rpm B, (EFREH Bt 0B Applied to the output shaft center @100rpm. i <
*2.3000rpm Z=#EE A Measured at 3000rpm with no load <
MANEARHD EBRRBTRETSEASLTEL - The above figures/specifications are subject to change without prior notice. : c
¢ « 3
Products due to human error, natural disasters or other factors lead to poor or damaged, will not be covered under warranty. e P - =
EREARR FRBER - F . e - < C AL -
c c - -«
£ ~ A Ve
35 @% SESAME f,_;‘% SESAME | g

www.sesamermofor.com www.sesamemofor.com




<
7@~ SESAME

® www,.sesamemotor.com

v

| POH series

37 38




PLANETARY GEARHEADS

PGH Single Stage Dimensions PGHEESMEIR~TH PGH Double Stage Dimensions PGHEEXSMEIR~T
<9
C9 D2 Lil &
Li1 = 7/ = \ﬁ ]
T 3 N \ 8| 1 ____'Qf__", 4
_ =V ° [ /f} 3 é[é] 118
ok =2 T e, |ty 4
! 3 = 3] | L7 c4
14 h_LS oLl L2 L8 c8
13| |17 ct - -
oLl 12 18 8 a8 o I
i (ol — 13
L6 s E\I__ T P
A gél = —-é ‘w
k- — 14 A-_'\j Bleg=="u] |3
— g ) 79
19 13 | |77 ﬂj §) I
_tf__ 12 18 8

Specifications R& Unit:mm Specifications & Unit:mm
R Dimensions PGH42 PGH60 PGHS0 PGH115 PGH142 PGH180 PGH220 Dim’s,_;{ians PGH42 PGH&0 | PGHe0T PGH30 PGHS0T PGH115T | PGH142T | PGH180T | PGH220T
D1 50 70 100 130 165 215 Z D1 50 70 100 130 165 215 -
D2 34 55 6.5 85 105 13 = D2 34 55 6.5 85 10.5 13 @
D3 he 13 16 22 32 40 55 = D3hé 13 16 22 32 40 55 &
D4gs 35 50 80 110 130 160 = Dagé 35 50 80 110 130 160 e
D5 15 25 35 45 50 70 Z D5 15 25 35 45 50 70 =
D& M4x0.7P M5x0.8P M8x1.25P M12x1.75P M16x2.0P M20x2.5P 5 D6 M4x0.7P M5x0.8P M8x1.25P M12x1.75P | M16x2.0P | M20x2.5P =
D7 56 80 118 148 186 239 = D7 56 80 118 148 186 239 =
L1 42.6 60 90 115 142 182 = L1 42.6 60 90 115 142 182 z
L2 26 37 48 63 915 100.5 = L2 26 37 418 63 915 100.5 =
L3 55 7 10 10 10 16 i@ L3 55 7 10 10 10 16 =
L4 1 L5 L5 3.5 25 25 = L4 1 15 15 3.5 2.5 25 =
L5 15 25 32 40 60 70 @ L5 15 25 32 40 60 70 e
L6 2 2 2 5 5 6 & L6 2 3 5 5 6 g
L7 4 6 8 akil 16 18 5 L7 6 8 Atk 16 18 =
L8 28.3 37 46 57 755 94 = L8 55.3 70 65.5 86 78.5 99.5 1275 166 =
L9 4 4 4.5 ) 6 8 & L9 4 4 45 6 6 8 &
L10 14 16.5 205 30 38 48 = L10 14 165 205 30 38 48 4
L11 23 35.5 40.5 42 63 69.5 - L11 29 355 29 40.5 355 40.5 42 63 =
C12 46 70 90 115 145 200 = c1? 46 70 46 90 70 920 115 145 =
22 M4x0.7P M>5x0.8P M6x1.0P M8x1.25P M8x1.25P M12x1.75P & c2? M4x0.7P M5x0.8P M4x0.7P M6x1.0P M5x0.8P Méx1.0P | M8x1.25FP | M8x1.25P -
32 =8 <14 <19/<24 <24/<28 =35 <50 - ca? <8 <14 <8 <19/<24 <14 <19/<24 <24/<28 <35 -
ca? 27 37 47 56 66.5 82 - ca? 27 37 27 47 37 47 56 66.5 -
C52gg 30 50 70 95 110 1143 = ¢5%ks 30 50 30 70 50 70 95 110 -
62 4 4 6 10 6 13 - c6? 4 4 4 6 4 6 10 6 -
12 2.6 60 90 115 140 182 - c72 42.6 60 42.6 90 60 90 115 140 4
c8? 38,5 46 55 63 80 95 = 82 38.5 46 38.5 55 46 55 63 80 =
C9? 92.8 120 149 183 247 289.5 = c9? 119.8 153 141 189 172.5 217.5 282 346.5 =
B 3 5 6 10 12 16 = B 3 5 6 10 12 16 G
H 15 13 245 35 43 59 - H 15 18 245 35 43 59 =
% Cl~-CORANEZRFRBEHR T WRAEANFERE.  * C1~C9 are motor specific dimensions{metric std shown ), * Cl~-CORANEEREEBER T Wk MERNTERE. % CL~CY are motor specific dimensions{metric std shown ),
Size may vary according to the motor flange chosen. Size may vary according to the motor flange chosen,
* ZATEMSA ERBREBTRHBERSTEA. * Specification subject to change without notice. * EATEMANN ERBRRETRHBERETSA. * Specification subject to change without notice.
39 »,*S“ SESAME 3—-% SESAME 40

www.sesamemofor.com www.sesamemotor.com




PGH Specifications Table PGH#gEREHR

#4& Specifications B | BEL | poH42 PGH60 PGH-90  PGH-1IS PGH-142 PGH-200  PGH-255
3 19 53 45 290 520 950 1550
3 20 55 50 300 550 1000 1650
17 54 40 290 530 1050 170
15 35 280 490 1000 160
14 44 25 270 450 960 150
1 8 12 41 110 240 390 900 1350
9 11 37 95 220 360 800 1250
10 11 37 95 220 360 800 1250
B8 | BED | pGH-42 PGH-60(1) PGH-90M) PGH-LIST PGH-142T PGH-200T PGH-255T
15 9 53 45 290 520 950 1550
20 20 55 50 300 550 1000 1650
BRI I15E TN Nem 25 7 54 40 290 530 1050 700
Nominal Qutput Torque 30 7 54 40 290 530 1050 700
35 7 54 40 290 530 1050 700
40 ¥ 54 40 290 530 1050 700
Py 45 7 54 40 290 530 1050 700
50 54 40 290 530 1050 700
60 46 35 280 490 1000 1600
70 4 44 25 270 250 960 1500
80 41 10 240 390 500 1350
%0 37 95 220 360 800 1250
100 1 37 95 220 360 800 1250
=S J4E Tanor Nem 3.0 fFEREM L J4E (3.0 times of Nominal Output Torque)
Emergency Stop Torque (* |AEH L H4E Max. Output Torque T2B =60% of Emergency Stop Torque)
BAEBAEE NN
Nominal Input Speed rpm 1,2 3-100 5000 5000 4000 4000 3000 3000 2000
BABAEE Nimax
Max. Input Speed rpm 12 3-100 10000 10000 8000 8000 6000 6000 4000
BREBER : 1 3-10 <2 <2 <2 <1 <1 <1 <1
Micro Backlash PO aremin 2 |12100| =4 <4 54 s3 <3 <3 <3
mEER A 1 3-10 <4 <4 <4 <3 <3 <3 <3
Precision Backlash P1 aremin 2 | 12700 | <6 <6 <6 <5 <5 <5 <5
RERR . 1 3-10 <6 <6 £6 <5 <5 <5 <5
Standard Backlash P2 arcmin 2 12-100 | <8 <8 <8 <7 <7 <7 <7
. — Nem
8l # Torsional Rigidity Jarcmin 12 3-100 25 6 12 23 45 75 130
1
L e N 12 | 310 | 760 1570 2780 5340 8400 13000 35000
AETEAE ) F2an *
Max. Axial Load N 12 3-100 410 750 1870 3310 4670 6460 21400
#EFRE Operating Temp. °C 3-100 -10°C ~+90°C
{E A= Service Life hr 3-100 20,000 (10,000/ ¥ ##3E# Continuous operation)
H= " 1 3-10 297%
Efficiency 2 12-100 294%
EE kg 1 3-10 0.6 13 35 78 16.1 27 58
Weight 2 12-100 | 09 20/16 _ 56/39 95 19 34 65
22457518 Mounting Position - 12 3-100 fERF5 ANy direction
I2E1& Noise Level 2 dBA/Im 12 3-100 56 58 60 63 65 67 70
Br#%5#% Protection Class - 12 3-100 P65
#838 Lubrication - 12 3-100 ZEMBEBEH Synthetic Lubricant
FEMBENRE Inertia(1)
#i%Stage JHixtERatio B fiTunit PGH-42  PGH-60 PGH-90 PGH-115 PGH-142 PGH-200 PGH-255
3 003 023 097 235 1000 3050 79.50
4 002 018 067 166 7.17 2586 5821
1 5 002 0.17 065 1.50 652 2363 5436
6/1/8 002 0.14 060 145 6.17 2292 54.12
9/10 Kg + cm? 002 014 0.58 141 6.10 2273 5398
Ei%{Stage tbRatio PGH-42 PGH-60(T) PGH-90(T) PGH-115T PGH-142T PGH-200T PGH-255T
15/20/25 002 017(002)  065(0.17) 065 150 652 2363
2 30/35/40 002 014(002)  0.60(0.14) 060 145 6.17 2292
45/50/60/70/80/90/100 002 014(002)  058(0.14) 058 141 6.10 2273
* 1. @ E83% 100rpm B, (EFRE Bt 0\ B Applied to the output shaft center @100rpm.
*2.3000rpm Z#E = Measured at 3000rpm with no load
MANEARH D BIRRBTRETEEARSTEL - The above figures/specifications are subject to change without prior notice.

Products due to human error, natural disasters or other factors lead to poor or damaged, will not be covered under warranty.
EREARRI FRIRHE - T %

<
41 | & sesame
www.sesamemofor.com

2 0 0 0 0 0 0O
®a®a a8 00 0

&
&

-
&
&
P
-

,’qq'\ﬁ'\

PLANETARY GEARHEADS

<)
% SESAME | 49
www.sesamemotor.com




\e

®

SESAME

w.sesamemotor.com

))

PUL series




PLANETARY GEARHEADS
PUL Single Stage Dimensions PULEERSMELR T PUL Double Stage Dimensions PULEERSME R~ &
(o]
c9 DT D2
b7 D2 Li1 o . _ :
o/ K \ A Hasii - s -:]-
v o Q .@. afa)a
®)) 3 — O NS
y B Tt © -
B (3 i g S 0 4]
—Sae Q’ = § ali L3 L7
S L3 |' L7 c4 L2 L8
L2 L8 o] co
IE1 L6, L5 a
L6 L5 iy ‘é : I
7o
P — 1(0) i f
8 == LS =
=
o] - 3 £
L10) L2 L8 2
Specifications R1& Unit:mm Specifications #R#& Unitmm
Rt Dimensions PULGO PUL75 PUL100 PUL140 PUL180 PUL220 R~ Dimensions PUL60/PULBOT PUL75/PUL75T PULL00T
D1 68 85 - - - - D1 68 85 -
D2 55 6.8 - - - - D2 5.5 6.8 -
D3 he 16 22 - - - - D3 hs 16 22 -
D4 g6 60 70 - - - = D4 g 60 70 -
D5 346 464 - - - - D5 346 46.4 -
D6 M5x0.8P M8x1.25P - - - - D6 M5x0.8P M8x1.25P -
D7 80 100 - - - - D7 80 100 -
L1 62 76 - - - - L1 62 76 -
L2 485 56 = - - - L2 485 56 -
L3 185 18 = & - - L3 185 18 -
L4 15 2 = = - - L4 1.5 2 -
L5 20 32 = - - - L5 20 32 =
L6 2 2 - - - - L6 2 2 -
L7 6 7 . & - - L7 6 7 -
L8 44 61 = = - - L8 77 725 101 935 -
L9 4 45 = = & E L9 4 45 =
L10 165 20.5 - - o = L10 16.5 20.5 =
L11 355 40.5 - - . = L11 355 29 40.5 355 -
c1? 70 90 = = 5 = c1? 70 46 90 70 =
2’ M5x0.8P Méx1P - - s B c2? M5x0.8P M4x0.7P MBx1P M5x0.8P -
c3? <14 <19/<24 - - - - c3? s14 <8 <19/<24 sl4 -
ca’? 37 47 - - - - ca? 37 2z 47 37 g
5%k 50 70 - - = - 52 50 30 70 50 N
c6? 4 6 - - - - ce? 4 4 6 4 -
cr? 60 90 - - - - cr? 60 426 90 60 -
8’ 46 55 - - : = s’ 6 385 55 46 =
co? 1385 172 = - - - c9? 1715 159.5 212 195.5 -
B 5 6 = = & - B 5 6 -
H 18 245 = = - - H 18 245 -
% Cl~CORANGZREFRBEHER T WRAEANFERE.  * C1~C9 are motor specific dimensions{metric std shown ), * Cl~-CORANREREMBER T WK MERNTERE. % CL~CI are motor specific dimensions{metric std shown ),
Size may vary according to the motor flange chosen. Size may vary according to the motor flange chosen,
* ZATEMHSAN ERBREBITRHBERSETEA. * Specification subject to change without notice. * ZEATHFMANN ERBRRETRHBERETSA. * Specification subject to change without notice.
45 7 sesAmE 22 sesame e
www.sesamemolor.com www.sesamemotor.com




PLANETARY GEARHEADS

PUL Specifications Table PULMAE#R1EHE=R

i oot e TIELL e_9
#R1% Specifications Stage Ratio PUL-60 PUL-75 PUL-100 PUL-140 PUL-180 PUL-220 %a%e
3 53 45 290 520 950 1550 «2:s%4%a%2
4 55 50 300 550 000 1650 e
54 40 290 530 050 170! e _8.9
46 35 280 490 000 160C e ¢
1 4 25 270 450 960 1501 A1
8 41 110 240 390 900 1350 L
9 37 95 220 360 800 1250 -~
10 37 95 220 360 800 1250 2
B | BED | puceom  PULTSM  PULIOOT  PUL-L4OT  PUL-ISOT  PUL-220T q
BE@ N5 TN Nem 15 53 45 290 520 950 550
Nominal Output Torque 20 55 50 300 550 000 650
25 54 40 290 530 050 700
30 54 40 290 530 050 700
35 54 40 290 530 050 700
40 54 40 290 530 1050 700
2 45 54 40 290 530 1050 700
50 54 40 290 530 1050 700
60 46 35 280 490 1000 600
70 Y 25 270 450 960 500
80 4 10 240 390 900 350
90 3 95 220 360 800 1250
100 37 9 220 360 800 1250
=S J4E Tanor Nem 3.0 fFEREM L J4E (3.0 times of Nominal Output Torque)
Emergency Stop Torque (* |AEH L H4E Max. Output Torque T2B =60% of Emergency Stop Torque)
BEWAME Nin
Nominal Input Speed rpm 1,2 3-100 4500 4000 4000 3000 3000 2000
BABMABE Nimax
Max. Input Speed rpm 12 3-100 6000 6000 4500 3600 3600 3000
BREBER : 1 3-10 <2 <2 <1 <1 <1 <1
Micro Backlash PO arcmin 2 12-100 s4 <4 <3 <3 <3 s3
mEER A 1 3-10 <4 <4 <3 <3 <3 <3
Precision Backlash PL aremin 2 | 121100 <6 <6 ss5 <5 <5 <5
EEE ! 1 3-10 <6 <6 <5 <5 <5 <5
Standard Backlash P2 arcmin 2 12-100 <8 <8 <7 <7 <7 <7
A A Nem
8l # Torsional Rigidity Jarcmin 12 3-100 6 12 23 45 130 220
1
L e N 12 | 3100 3750 4750 - - - -
AETEAE ) F2an *
Max. Axial Load N 12 3-100 2700 3600 - - - -
#EFRE Operating Temp. °C 3-100 -10°C ~+90°C
{E A= Service Life hr 3-100 20,000 (10,000/ ¥ ##3E# Continuous operation)
e % 1 3-10 297%
Efficiency 2 12-100 294%
=8 kg 1 3-10 18 40 R - - -
Weight 2, 12-100 2.4/2.0 5.7/4.5 - - - -
22457518 Mounting Position - 12 3-100 fERF5 ANy direction
I2E1& Noise Level 2 dBA/Im 12 3-100 58 60 63 65 67 70
Br#%5#% Protection Class - 12 3-100 P65
#838 Lubrication - 12 3-100 ZEMBEBEH Synthetic Lubricant
FEMBENRE Inertia(1)
fh#Stage JHixtERatio B fiTunit PUL-60 PUL-75 PUL-100 PUL-140 PUL-180 PUL-220
3 023 097 235 10.00 30,50 79.50
4 0.18 067 166 717 25.86 58.21 Re
1 5 017 065 150 652 2363 54.36 [l
6/1/8 014 0.60 145 617 2292 54.12 -
9/10 Kg + cm? 0.14 0.58 141 6.10 2273 53.98 i
#i%Stage A LERatio PUL-60(T) PUL-75(T) PUL-100T PUL-140T  PUL-180T PUL-220T o <
15/20/25 0.17(0.02) 0.65(0.17) 065 150 6.52 2363 =&
2 30/35/40 014(0.02) 0.60(0.14) 0.60 145 617 2292 3 3
45/50/60/70/80/90/100 0.14(0.02) 0.58(0.14) 0.58 141 6.10 2273 <
* 1. @ E83% 100rpm B, (EFRE Bt 0\ B Applied to the output shaft center @100rpm. i <
*2.3000rpm Z#E = Measured at 3000rpm with no load <
MANEARH D BIRRBTRETEEARSTEL - The above figures/specifications are subject to change without prior notice. >
c
R o =
¢ c c
Products due to human error, natural disasters or other factors lead to poor or damaged, will not be covered under warranty. e c c - =
EREARR FRBER - F . e - < C AL -
c c < S
c s c e -
a7 @*"’5 SESAME ,ré*% SESAME | g
www.sesamemofor.com www.sesamemofor.com




ESAME
w.sesamemotor.com

S

©

=
=

Cc7

9

POLH series

49




PGLH Single Stage Dimensions PGLHEEEESMEIR TN

PGLH Double Stage Dimensions PGLHEEESMEL T

PLANETARY GEARHEADS

9 %
<9
C6
D2 L1l I
: A ﬁ I3 3
‘7/ \ " = ﬂ 8 é1 §
? Eff\ Ly =l
14
; ?/j s o ;
% f 14 1<l 13| oz
% 12 18
- L7 [ ne
[=) 5] 18 c8 § 9 =
S [—5.C6
P — =K 7
S el 1 ——‘ —t ©
l'w M- L _l\_. ==
L [T10 | 13 J.L7 L1 8{
12 18 CR
]
T
Specifications #R1& Unit:mm Specifications & Unitmm 1
n
Rt Dimensions PGLH42 PGLHE0 PGLH90 PGLH115 R Dimensions PGLH42 PGLHE0 PGLH60T PGLHI0 | PGLHI0T PGLH115
D1 50 70 100 130 D1 50 70 100 130
D2 34 515 6.5 85 D2 34 55 6.5 85
D3 hs 13 16 22 32 D3n6 13 16 22 32
D4 ge 35 50 80 110 D4gs 35 50 80 110
D5 15 25 35 45 D5 15 25 35 45
D6 M4x0.7P M5x0.8P M8x1.25P M12x1.75P D6 M4x0.7P M5x0.8P M8x1.25P M12x1.75P
D7 56 80 118 148 D7 36 80 118 148
L1 426 60 90 15 L1 426 60 90 115
L2 26 37 48 63 L2 26 37 48 63
L3 5.5 7 10 10 L3 55 7 10 10
L4 1 15 15 35 L4 1 15 15 35
L5 15 25 32 40 L5 15 25 32 40
L6 2 2 3 5 L6 2 2 3 5
L7 4 [ 8 Atk L7 4 6 8 Al
L8 283 37 46 57 L8 553 70 65.5 90 78.5 99.5
Lg 4 4 4.5 6 L9 4 4 4.5 6
L10 14 16.5 205 30 L10 14 16.5 205 30
L11 29 35.5 405 53.7 L11 29 355 29 40.5 35.5 40.7
laig 46 70 90 115 €12 46 70 46 90 70 20
E22 M4x0.7P M5x0.8P M6x1.0P M8x1.25P 22 M4x0.7P M5x0.8P M4x0.7P Mé6x1.0P M5x0.8P M6x1.0P
3 <8/<14 <14/<19 <19/<24 <38 32 <B/<14 <14/<19 <8f<14 <19/<24 <14/<19 <19/<24
ca? 27 37 41 56.3 ca? 27 37 27 41 37 46
C52rs 30 50 70 95 C52rs 30 50 30 70 50 70
@6 4 4 6 10 €67 4 4 4 6 4 10
c72 426 60 90 115 c7? 426 60 426 90 60 920
cg? 385 46 55 75 cg? 385 46 385 55 46 60
c9? 928 120 149 195 c9? 1198 153 141 193 1725 2225
B 5 5 6 10 B 5 5 6 10
H 15 18 24.5 35 H 15 18 24.5 35
% Cl~-CORANEZRFRBEHR T WRAMEANFERE. % C1~C9 are motor specific dimensions{metric std shown ), % Cl~-CORANGEEREMBER T Mk MERNTERE. % CL~CYI are motor specific dimensions{metric std shown ),
Size may vary according to motor flange. Size may vary according to motor flange.
* ZATEMSA ERBREBTRHBERSTEA. * Specification subject to change without notice. * ZEATHEMANN ERBRRETRHBERETSA. * Specification subject to change without notice.
51 »,*S“ SESAME )}-% SESAME 52
www.sesamemofor.com www.sesamemotor.com




PGLH Specifications Table PGLH#EMREH =

4% Specifications Sﬁ";g‘e s PGLH-42 PGLH-60 PGLH-90 PGLH-115
3 19 53 145 290
4 20 55 150 300
5! 17 54 140 290
! 7 14 44 125 270
10 11 37 g5 220
sii’g“e b PGLH-42 PGLH-60(T)  PGLH-90(T) PGLH-115T
B HE Ton N & i
Nominal Output Torque 15 19 53 145 290
20 20 55 150 300
25 17 54 140 290
30 17 54 140 290
2 35 17 54 140 290
40 17 54 140 290
50 17 54 140 290
70 14 A4 125 270
100 11 37 95 220
=fE 718 Tanot Nem 3.0 fE R H4E (3.0 times of Nominal Output Torque)
Emergency Stop Torque (* B A 04E Max. Output Torque T2B =60% of Emergency Stop Torque)
Nﬁnﬁﬁ%?ﬁ sr::e 4 rpm 12 3-100 4000 4000 3000 3000
fnf)?lf“;ﬁp;&“ rpm 12 3-100 8000 8000 6000 6000
REER ) 1 310 <6 <6 <6 <5
Precision Backlash P1 aremin 2 12-100 <8 <8 <8 <7
e ) 1 3-10 <8 <8 <8 <7
Standard Backlash P2 arerin 2 12-100 <10 <10 <10 <9
M Torsional Rigidity /:,"“rc mo| 12 3-100 25 12 23
aﬁfiﬁaﬂda ll:g:; N 12 3-100 640 1260 2230 4300
ﬁiﬁgﬁ Eg;adl N 12 3-100 410 600 1500 3310
fEFIIRE Operating Temp. °C 3-100 -10°C ~+90°C
& RmMmService Life hr 3-100 20,000 (10,000/ 3E#&3E# Continuous operation)
Fe] % 1 3-10 297%
Efficiency Z 12-100 294%
B2 K 1 3-10 06 13 335 78
Weight 9 2 12-100 09 20/1.56 56/3.9 95
2247518 Mounting Position - 12 3-100 FERA ANy direction
2% & Noise Level 2 dBA/1m 12 3-100 58 60 63 65
BME4R Protection Class = 1,2 3-100 P65
838 Lubrication - 12 3-100 2EMEBEM Synthetic Lubricant
FIEREEES Inertia(1)
fi#Stage B ELGRatio Efirunit PGLH-42 PGLH-60 PGLH-90 PGLH-115
3 003 023 097 235
4 002 018 067 166
1 5 002 017 065 150
7 002 014 060 145
10 Kg * cm? 002 014 058 141
gi#Stage JiELERatio PGLH-42 PGLH-60(T) PGLH-90(T) PGLH-115T
15/20/25 002 0.17(0.02) 065(017) 065
2 30/35/40 002 0.14(0.02) 0.60(0.14) 060
50/70/100 002 0.14(0.02) 058(0.14) 058

* 1, ) #3E 100rpm K, YEFERE 18 /0 B Applied to the output shaft center @100rpm.
*2.3000rpm ZZ#E A Measured at 3000rpm with no load
XEATEHHN FERRRBTRAIBEELLTEH « The above figures/specifications are subject to change without prior notice.

Products due to human error, natural disasters or other fa

srigE

EREA

=)
77 SESAME
www.sesamemotor.com

ctors lead to poor or damaged, will not be covered under warranty.

PLANETARY GEARHEADS

C C ©

77 SESAME
www.sesamemotor.com

]
@
=
=
[
®
3.
®
@




ESAME
w.sesamemotor.com

=

=
=

©

c9

ILi

1| 117

1LY

| PGL142/PGL180/PGL22

(6]

Ll

-

8

L7

18

e

D2

POL series

L5

L6

o
ZZZ

56




PGL SERIES FEATURES PGL%5! 245 Rb

ERMERRSRaEH BEREEERETE
» MBI T - IBSRENEE « B
ERER S E RN

Alloy steel gear with unique heat treatment.
Additionally, with gear grinding processing to get
the best accuracy, high wear resistance and high
impact toughness.

IEEERR MRS —ENE » BATIER
REMNBRAEE » TEFSAHRBEERED
HEEOSMEED -

Planetary arm bracket and output shaft are
one-piece constructed, setting bearing apart for
larger span to reach the largest reverse rigid and
contribute high axis radial load capacity.

H7JEhRE S e R RS AR RAEL
BRaH  REREBNE  EREHR® -

Grinding process to smooth surface of output shaft,
and with oil-seal to minimum friction coefficient and
reducing start up load; result in the best seal-ability
and extended lifespan.

PGL RIIBEEET FOEEFARS
EEEENEA - ERRAHOW
H o BT REEERIIT -
BISHEZNER  BNE - BRE |
RREMNTERRMY -
PGL Series overall design
for binati opera-
tion with servo motor high-speed
input and achieves maximum
torque output. Precision gear
design and gear processing,
create a low backlash operation,
high efficiency, low noise and
long-life of the planetary gear.

PLANETARY GEARHEADS

ABERRHREEBARTEREER » B
EMIEERE  URRESTHNRINE
The sun gear bearing is placed directly into the
planetary arm bracket, the overall mechanical
structure designed to ensure concentricity of
the transmission components.

BREHARE CEREE » TERH
E - RIP6SPESRNBHNE - RASKRE
TBHEE  RW - BRE -

High-tech oil seal design on the upper lip guard
against dust intruder, lower lip to guard against
oil leak. Advanced lubricants grease and IP65
protection safeguards fully avoid leaking and
given it maintenance-free.

BARRBEANBERTERAERRH
B HRRICRETEI  BRSEET
BENENRNEREBESEE -
Input-end and motor shaft are coupled through
a dynamic balanced collar clamping mecha-
nism to ensure connection interface concen-
tricity and zero slip power transmission at high
speed.

SOEREEEIRRE  EAANHEE 78
gg'ﬂﬁ§EMH2ﬁﬁ\$ﬁ%E%¥E
BCAEE -

Advanced motor bracket design coupled with
the input shaft bushing is easy to mount to any
servo or stepper motor.

TESWRBHNERAES RUE » METBFIRSR
78 NENRARBERS BRAZ B8k
ERtRELED

Planet gear transmission interface equipped with
needle bearings, full needle roller bearings
aligned without retainer achieve maximum
exposure but smallest gap tolerances. Enhance
over-all gear structure rigid and output torque.

SOEBBRSREERE - WA - MR RESSHERBRTEX -
AREFENRE SRS - BREERREEHNT - RESEBE &8
73 » THERREFASRE -

Advanced electroless nickel plating surface treatment resists scratch and corrosion.
Suitable for stringent require of high-tech equipment.

The gear box and internal gear ring are one-piece constructed, and then processed
with advanced Germany gear shaper machinery for high-precision, high torque and
abrade consumption.

Products due to human error, natural disasters or other factors lead to poor or damaged, will not be covered under warranty. ERBEAREESR FRIEE - FHE
=) =
ESAME == SESAME
s | 2 s

www.sesamemofor.com www.sesamemotor.com




PLANETARY GEARHEADS
PGL Single Stage Dimensions PGLEEEXSMEZ~Tll PGL Double Stage Dimensions-1 PGL#ESM B ~FHl-1
o Cc9
L s \% - — @D2 ‘A‘l
o
R 7/ A PE )
1TTen| o y
ul K %
3] | |L7 4
12 18 Cc8
PGL142/PGL180/PGL220) =
a -
L o
K = g
1 i
= i Mt
13 | e & e
L2 1 ¢} 2 &
Specifications #Ri& Unitmm Specifications & Unitmm
DimEr?;iens PGL42 PGLE0 PGL90 PGL115 PGL142 PGL180 PGL220 DimErEions PGL42 PGL60 PGL90 PGL115 PGL142 PGL180 PGL220 "c._g
D1 50 70 100 130 165 215 250 D1 50 70 100 130 165 215 250 &
D2 34 55 6.5 85 10.5 13 17 D2 34 55 6.5 85 10.5 Sk} 17 3
D3 he 13 16 22 32 40 55 75 D3 hs 13 16 22 32 40 55 75
D4 gs 35 50 80 110 130 160 180 D4 g6 35 50 80 110 130 160 180
D5 15 25 35 45 50 70 90 D5 15 25 35 45 50 70 90
D6 M4x0.7P M5x0.8P MB8x1.25P M12x1.75P M16x2.0P M20x2.5P M20x2.5P D6 M4x0.7P M5x0.8P M8x1.25P M12x1.75P M16x2.0P M20x2.5P M20x2.5P
D7 56 80 118 148 186 239 292 D7 56 80 118 148 186 239 292
L1 426 60 90 115 142 182 220 L1 426 60 90 115 142 182 220
L2 26 37 48 62 93 104.5 138 L2 26 37 48 62 93 1045 138
L3 55 7 10 8 8 20 30 L3 5.5 7 10 8 8 20 30
L4 15 15 15 3 6 25 3 L4 L5 15 15 3 3 25 3
L5 15 25 32 40 60 70 90 L5 15 25 32 40 60 70 90
L6 2 2 3 5 5 6 7 L6 2 2 3 5 5 6 7
L7 4 6 8 abs 18 16 20 L7 4 6 8 12 18 16 20
L8 283 36 46 59 79 875 117.5 L8 54.3 64 86 107 140 1775 232
L9 4 4 4.5 6 6 8 7 L2 4 4 4.5 6 & 8 7
L10 14 16.5 20.5 30 38 48 42 L10 14 16.5 20.5 30 38 48 42
L11 29 35.5 40.5 42 63 69.5 102.2 L11 29 35.5 40.5 42 63 69.5 102.2
€1% 46 70 90 115 145 200 235 c1? 46 70 920 115 145 200 235
c2? Méx0.7P M5x0.8P M6x1.0P M8x1.25P M8x1.25P M12x1.75P M12x1.75P cz2?2 Max0.7P M5x0.8P M6x1.0P M8x1.25P M8x1.25P M12x1.75P M12x1.75P
c3? <8 <14 <19/224 <24/<8 <35 <50 <55 c3? <8 <14 <19/<24 <24/<28 <5 <50 <55
ca’ 27 37 47 58 66 82 98 c4? 27 37 47 58 66 82 98
c5%ks 30 50 70 a5 110 1143 200 C52¢6 30 50 70 95 110 1143 200
6 4 4 6 10 6 13 12 €65 4 4 6 10 & 13 12
c7? 426 &0 90 115 140 182 220 (% 4286 &0 90 115 140 182 220
c8? 385 46 55 63 80 a5 130 (&5 385 46 55 63 80 a5 130
co? 92.8 113 149 184 252 287 385.5 [« 1188 147 189 232 313 377 500
B 3 5 6 10 12 16 20 B 5 5 6 10 12 16 20
H 15 18 24.5 35 43 59 79.5 H 15 18 24.5 35 43 59 79.5
* CL~COTANFRREMPHR T WKARANBERE. & C1~C9 are motor specific dimensions(metric std shown ), * Cl~CORANEEREMBHER S Wk MBRANBERE. % CL~CI are motor specific dimensions{metric std shown ),
Size may vary according to the motor flange chosen. Size may vary according to the motor flange chosen,
* ZATEMSA ERBREBTRHBERSTEA. * Specification subject to change without notice. * EATEMANN ERBRRETRHBERETSA. * Specification subject to change without notice.
59 »}f“ SESAME )}-% SESAME 60
www.sesamemolor.com www.sesamemotor.com




PGL Double Stage Dimensions-2 PGLEERSMRIR -2 PGL Specifications Table PGLIEgEREHER
co e % | Rk
% D2 Za #4% Specifications Stage Ratio PGL-42 PGL-60 PGL-90 PGL-115 PGL-142  PGL-180 PGL-220
-;%‘L cs Y [Ty 95. 23 182 1151 7
; T =) ~ft 4 i 35! 744 249 490 1055 7
& . 1 T 1 43/ 95. 283 4 1151 71
% <4 10 \ | 7.1 5 394 90. 266 4 1055 574
27 [ % - T is) 7 9 36 85. 21! 4€ 1055 74
2 J l‘—l; 7@ | i 8 109 324 851 21 363 50 7]
g{ La - - 3 28 28 80. 210 320 64 85
120, —t — (s) 10 101 250 754 210 320 63 84
- L3 | |L7 L11 Sﬂg‘e BEL | pGlaz PGLEO( PGL-90() PGLIIS(T) PGL-142(T) PGL-180(T) PGL-220(T)
oLt L2 | L8 c8 15 ; 4. 95. 283 182 1151 7
20 L 351 744 245 450 1055
PGL142T/PGL180T/PGL220T] FEMLNE TN N& i 25 z 43, 95. 283 473 1151 7
\%’ ca Nominal Qutput Torque 30 . 43, 95. 283 473 1151 7
L L5 = D2 '—L"_H__cs 35 138 430 952 283 47 1151 7
gl |l ! ./? o = 40 138 430 952 23 a7 151 i
9 — m| 4 45 138 430 952 283 47 1151 7
- B - 'é[ = - =27y 2 50 i 43 95 283 47; 9%0
== \\_J/ |1 60 Z 394 90 266 436 1055
L9 L4 [ = 70 : 361 85.4 219 200 1055
| L10| s ke o |8 80 . 324 85 216 363 860 4|
oLt T T 0 28 28, 80 210 320 764 85
Le Le e 100 101 250 750 210 320 763 1184
=fF /4B TanoT N 3.0 HERER 148 ( 3.0 times of Nominal Qutput Torque)
Emergency Stop Torque (* A 4 Max, Qutput Torque T2B =60% of Emergency Stop Torque}
i - BERARE NN
Specifications R& Unitmm Nomralpat Spesd pm 12 | 3100 | 3000 3000 3000 2500 2000 2000 2000
RAMARE Nimax
Max. Input Speed pm 1.2 3-100 6000 6000 6000 5000 4000 4000 4000
5 Dimensions PGL60T PGLYOT PGL115T PGL142T PGL180T PGL220T HEmER arcmin 1 3-10 - - - =3 3 =3 3 a
b1 70 100 130 165 215 250 Micro Backlash PO 2 |1a0e0| - : : s5 55 s5 55 P
BEER . 1 3-10 - <6 56 <5 <5 <5 <5 s
D2 5.5 6.5 85 10.5 13 17 Pretision RackiashiP1 arcmin 5 12-100 . <o <9 <7 <7 <7 <7 2
D3ns 16 22 32 A0 55 75 BRI ! 1 310 | sL12 <9 =9 7 <7 <7 <7
Ddgs 50 80 110 130 160 180 Standard Backlash P2 aremin 2 12-100 | €15 <12 <12 <9 <9 <9 <9
D5 25 35 45 50 70 90 WA Torsional Rigidity /:‘rér:;n 1.2 3-100 10 28 75 155 30 57 110
D6 M5x0.8P M8x1.25P M12x1.75P M16x2.0P M20x2.5P M20x2.5P B Fare
D7 80 118 148 186 239 292 Max. Radial Load N 12 3-100 350 960 1630 3380 6150 7260 11120
L1 60 90 115 142 182 220 BRI Foas
) N 12 3-100 320 900 1420 2930 5510 5550 8560
L2 37 48 62 93 1045 138 Max. Axial Load
) 7 0 P 3 20 30 MR AE Operating Temp. °C 3-100 -10°C ~+90°C
1 FAmnnService Life hr 3-100 20,000 (10,000/ ¥ E# Continuous operation)
L4 15 15 8 6 25 3 free " 1 310 >96%
L5 25 32 40 60 70 20 Efficiency 2 12-100 292%
L6 2 3 5 5 6 7 =R N 1 3-10 06 12 32 75 156 26 56
L7 6 8 12 18 16 20 Weight 9 2 12-100 08 19/15 5.3/36 12/8.8 20.7/17.2 36/31 80/62
L8 538 725 974 127 157 1995 22447515 Mounting Position = 1,2 3-100 A HAny direction
T} 1 25 6 6 3 7 IRl Noise Level 2 dBAZim | 12 | 3100 [ 60 62 65 65 70 70 75
L0 165 205 30 ag 48 4 BI%E4R Protection Class = 1,2 3-100 1P65
L1 29 355 405 42 &3 695 #83% Lubrication - 12 3-100 BEEEM Synthetic Lubricant
c1? 46 70 90 115 145 200 FIRSHERE Inertia1)
27 M4x0.7P MB5x0.8P M6xL.0P M8x1.25P M8x1.25P M12x1.75P #i¥Stage HiEthRatio B fiunit PGL-42 PGL-60 PGL-90 PGL-115 PGL-142  PGL-180 PGL-220
7 3 0.03 020 0.81 220 7.89 252 719
a 5 <8 <i4 19/24 <24/<28 <35 <50 4 0.02 0.16 065 180 5.83 198 56.5
4 27 37 47 58 66 82 1 5 0.02 0.15 0.62 161 538 183 533
€5 2¢g 30 50 70 95 110 1143 6/1/8 002 014 060 155 522 178 53.0
62 2 7T 6 10 5 13 9/10 Kg * cm? 0.02 0.14 0.60 153 5.20 176 529
2 26 0 20 115 140 182 ErHStage W% thRatio PGL-42 PGL-60(T) PGL-90(T) PGL-115(T) PGL-142(T) PGL-180(T) PGL-220(T)
i . 15/20/25 0.02 015(002)  062(015  161(062)  5.38(161) 183(538)  53.9(183)
s > 385 46 35 63 80 9% 2 30/35/40 0.02 014002  060(0.14)  155(060)  5.22(155)  178(522)  53.0(17.8)
o] 1343 166.5 2144 283 3415 4325 45/50/60/70/80/90/100 0.02 0.14(002)  060{0.14) 1.53(0.60) 5.20{1.53)  17.6(5.20) 52.9(17.6)
B 5 6 10 12 16 20 * 1. MR 100rpm B, FERRIA T8 S0z Applied to the output shaft center @100rpm.  * 2. 3000rpm ZE#EE I Measured at 3000rpm with no load
H 18 245 35 23 59 795 *3, PGLEQT - 001 - P1 + PGLYOT - OO - PLRPGLL15T - 001 - PO - RE&F L% - PGLEOT - 010 - P1 + PGLAOT - 101 - P1, and PGLLIST - IO - PO, are not applicable.
HKEATAEEE L ERIRREETREMERETEH - The above figures/specifications are subject to change without prior notice.
% Cl~-CORANEZREFBEHR T WKAEANFERE.  * C1~C9 are motor specific dimensions{metric std shown ), . 3
Size may vary according to the motor flange chosen. Products due to human error, natural disasters or other factors lead to poor or damaged, will not be covered under warranty.
*x FATEMS AN FHBAERTRABERETEA. %* Specification subject to change without notice. REASREXAMEERERTRENE - TERBBEA -
7 sesAmE 22 sesame 62
www.sesamemolor.com www.sesamemotor.com







PGRH SERIES FEATURES PGRH#%5!l E 45 Rl

IEEERR BRI —BNE » BRTERER
REUBRAEE » IEIRAHEBHIERESD
HEEaasEED -

Planetary arm bracket and output shaft are
one-piece constructed, setting bearing apart for
larger span to reach the largest reverse rigid and
contribute high axis radial load capacity.

o

DR E S A e R R E AR A B
EBEH  REREBEN  ERERS® -
Grinding process to smooth surface of output shaft,
and with oil-seal to minimum friction coefficient and
reducing start up load; result in the best seal-ability
and extended lifespan.

EHRMERASRAESN  BRURESREE
B RAXARER/VHE - WiEEEHE
%ésuﬁﬁﬁﬁmﬁﬁ~%mgﬁEEME¥

Alloy steel gear with unique heat treatment.
Additionally, with gear grinding processing to
get the best accuracy, high wear resistance and
high impact toughness.

PORHSEZI BB St F TREFIRAES N
EERNEA - ERRARIEE - ERR
EIOENAZERE - \EREmR R R
T - WEHEEBEE - S8E - R
ERREMITIEEEY -

PGRH Series overall design suitable for
combination operation with servo
motor high-speed input and achieves
maximum torque output. Right-

lar designed drastically r
the i llation space. Precision gear |
d and gear p ing create a

planetary gearhead with low backlash
operation, high efficiency, low noise
and long lifespan.

ABERRMAERBARTE
EIEZRA - BIEMMEAERRE
PIFEREEITTHIRINE -

The sun gear bearing is placed
directly into the planetary arm
bracket, the overall mechanical
structure designed to ensure
concentricity of the transmission
components.

PLANETARY GEARHEADS

RieaREnRASRaSER
M ERENTRAREE -
EIEEEERSERESR
EIRE -

Alloy steel spiral bevel gears
selected after hobbing and heat
treatment to ensure high accuracy
of the engagement point, low
backlash and low noise.

ERECHHRE FEREE - TERH
E - RIP65PIESMAMEBIIRE - RASH
R N BRE -

High-tech oil seal design on the upper lip
guard against dust intruder, lower lip to guard
against oil leak. Advanced lubricants grease
and IP65 protection safeguards fully avoid
leaking and given it maintenance-free.

SOERERRREERE W - TR BEEERR
RIBETER -
AREEHEENRE—BRSHT - BIEEORREEH
T - EEEEEE » 87 » MERE e -
Advanced electroless nickel plating surface treatment
resists scratch and corrosion. Suitable for stringent
require of high-tech equipment.

The gear box and internal gear ring are one-piece
constructed, and then processed with advanced

Germany gear shaper machinery for high-precision,

high torque and abrade consumption.

S
%~ SESAME
www.sesamemofor.com

TEEREDNERAREE  WBIARZR
mR - LESARBEES ) BRAZE B8
B R o

Planet gear transmission interface equipped with
needle bearings, full needle roller bearings
aligned without retainer achieve maximum
exposure but smallest gap tolerances. Enhance
over-all gear structure rigid and output torque.

ERNTRESHEEECNCER - BUER
RiFIGESEMESRSRETES - Rtk
BREREEERERE - TERNESMSES
ERRRBRT R

Right angular gear box processed by
precision CNC equipment to obtain the
highest combination with spiral bevel gears.
Advanced electroless nickel plating surface
treatment resists scratch and corrosion.
Suitable for stringent require of high-tech
equipment.

SUERETRIRRE  iBS
ANHRE  ZRE5 0
BEERIEZ AR - TES
EFEEEES -
Advanced motor bracket
design coupled with the input
shaft bushing is easy to
mount to any servo or
stepper motor.

WAREREAMERHTERAERH
# HRBCBETE O  BRSEET
BENAENRNERSE=8/)GEE -
Input-end and motor shaft are coupled
through a dynamic balanced collar clamping
mechanism to ensure connection interface
concentricity and zero slip power transmis-
sion at high speed.

Products due to human error, natural disasters or other factors lead to poor or damaged, will not be covered under warranty. ZE@REA FREBER - FE

)
% sEsavel | o
www.sesamemotor.com

S3L3S HYOd




67

PGRH Single Stage Dimensions PGRHE SR K<)l

oC7

Fan)
c9

C3
PC5
Specifications 1% Unit:mm
Rf Dimensions PGRH42 PGRHEO PGRHI0 PGRH115 PGRH142

D1 50 70 100 130 165
D2 34 55 6.5 85 10.5
D3hs 13 16 22 32 40
D4gs 35 50 80 110 130
D5 15 25 35 45 50
Dé Mé4x0.7P M5x0.8P M8x1.25P M12x1.75P M16x2P
D7 56 80 118 148 186
11 426 60 90 115 142
12 3 17 48 63 915
L3 55 7 10 8
L4 15 15 15 3 6
L5 15 25 32 40 60
L6 2 2 3 5 5
L7 4 6 8 12 18
L8 1036 148.2 204 246.5 325
19 4 4 45 6 6
110 14 165 205 30 38
L11 13.5 215 22 32 447
€1.f 46 70 90 115 145
@ M4x0.7P M5x0.8P M6x1P M8x1.25P M8x1.25P
c3’ <8 <14 <19/<24 <24 <35
ca’ 29 34 44 53 75
C5%k6 30 50 70 95 110
c6’ 3 5 5 6 9
c7? 426 60 90 115 140
cs? 25 3 35 48 65
co? 708 1078 135 1745 207

B 5 5 6 10 12
H 15 18 245 35 43

PLANETARY GEARHEADS

PGRH Double Stage Dimensions-1 PGRHEESMRR~TH-1

Specifications 1%

oc7

Unitmm

R~ Dimensions PGRH42 PGRH60 PGRHS0
D1 50 70 100
D2 34 55 65
D3 hs 13 16 22
D4 96 35 50 80
D5 15 25 35
D6 M4x0.7P M5x0.8P M8x1.25P
D7 56 80 118
11 426 60 20
L2 2 37 48
13 55 7 10
L4 L5 15 15
L5 15 25 32
L6 2 2 3
L7 4 6 8
L8 1306 181.2 248
19 4 4 45
110 14 165 205
111 135 215 22
a 46 70 90
e’ M4x0.7P M5x0.8P M6xL.0P
[&] ] <14 <19/<24
ca’ 29 34 44
C5°Fs 30 50 70
6 6 5 5
c7 426 60 90
ca’ 25 3 35
<) 708 107.8 135

B 5 5 3
H 15 18 245

* Cl~CORANRE R MR B KA A N B R E.

* ZATEMHY N LHBRSETOHBERETEA.

o
7= SESAME
www.sesamemolor.com

% C1~C9 are motor specific dimensions{metric std shown ),
Size may vary according to the motor flange chosen.

* Specification subject to change without notice.

* Cl~CORANEEREEBER Y, Wik IBRNBERE.
* ZATEMHNN EBEREETE MBS,

% C1~C9 are motor specific dimensions{metric std shown ),
Size may vary according to the motor flange chosen,
* Specification subject to change without notice.

7~ SESAME
www.sesamemotor.com

68

S31SS HYOd




PGRH Double Stage Dimensions-2 PGRH®E: MR ~FH-2

PLANETARY GEARHEADS

PGRH Specifications Table PGRHit&E:REIHER

148 Specifications % | BEEL |pGRH-42 PGRH-60 PGRH-90 PGRH-115 PGRH-142 PGRH-180 PGRH-220
19 53 45 290 520 950 1550
4 20 55 50 300 550 1000 1650
7 40 290 530 1050 1700
1 35 280 490 1000 1600
4 a4 125 270 450 960 1500
1 2 10 240 390 300 1350
95 220 360 800 1250
0 7 o5 220 360 800 1250
4 44 125 270 450 960 1500
0 7 95 220 360 800 1250
S‘t';ge BB | pGRH-42 PGRH-60(T) PGRH-90T) PGRH-L15(T) PGRH-142(T) PGRH-180T PGRH-220T
5 19 53 145 250 520 950 1550
BEMEAE TN Nem 20 20 55 150 300 550 1000 1650
Nominal Output Torque 25 17 54 140 290 530 1050 1700
30 i7 250 530 1050 700
35 7 290 530 1050 700
2 40 7 250 530 1050 700
45 7 290 530 1050 700
50 7 40 290 530 1050 1700
60 4 35 280 490 1000 1600
70 4 24 125 270 450 960 1500
80 [ 10 240 390 900 1350
%0 95 220 360 800 1250
100 7 95 220 360 800 1250
120 a6 135 280 490 1000 1600
140 4 a4 125 270 450 960 1500
160 a1 110 240 390 900 1350
180 7 95 220 360 800 1250
200 7 95 220 360 800 1250
BEA4E Tanor Nem 3.0 FHRXEM 1 14E ( 3.0 times of Nominal Output Tarque)
Emergency Stop Torque (* A 1% Max. Output Torque T2B =60% of Emergency Stop Torque}
EEMARE NN
el pm 12 3-200 | 5000 5000 4000 4000 3000 3000 2000
FAMABE Nimax
Nalopuspee pm 1.2 3-200 | 10000 10000 8000 8000 6000 6000 4000
BB ER A 1 3-20 ® 3 =3 52 £2 52 =2
Micro Backlash PO aremin 2 |15200| - - s5 s4 <4 <4 <4
WEER i 1 3-20 <5 <5 <5 <4 <a <4 <4
Precision Backlash P1 arc 2 15-200 | =7 £7 s7 s7 £7 £7 £7
EEER e 1 3-20 57 57 =7 <6 <6 <6 <6
Standard Backlash P2 ! 2 |15200| s9 59 s9 59 59 59 s9
o TR Nem
B8R Torsional Rigidity | i 1.2 3-100 25 6 12 23 45 75 130
BRI Fas *
Max. Radial Load N 12 3-100 760 1570 2780 5340 8400 13000 35000
ERTEE] F2e *
Max. Axial Load N 12 3-100 410 750 1870 3310 4670 6460 21400
{$EFRIB & Operating Temp. g4 3-100 -10°C ~+90°C
fiE Fim M Service Life hr 3-100 20,000 (10,000/ 3 #Ri% W Continuous operation)
Fre ) ” 1 3-10 295%
Efficiency 2 12-100 292%
== i 1 3-10 10 26 6.8 13.5 251 50 82
Weight 9 2 12-100 | 14 33/29 89772 14.8 267 55 88
2244751 Mounting Position = 1,2 3-100 FE& ANy direction
IR E# Noise Level 2 dBA/1m 1.2 3-100 62 64 66 68 70 72 74
Bri<¥ 4R Protection Class - 1,2 3-100 P65
#3# Lubrication = 1,2 3-100 EEMBEEH Synthetic Lubricant
FENEE R nertia()1)
fi#Stage FkthRatio B firunit PGRH-42 PGRH-60 PGRH-90 PGRH-115 PGRH-142 PGRH-180 PGRH-220
3/4/5/7/9 006 040 228 687 242 693 1382
1 6/8/10/14/20 005 030 145 476 145 503 1036
EiStage FiEbRatio Kg » cm? PGRH-42 PGRH-60(T) PGRH-90(T) PGRH-115(T) PGRH-142(T) PGRH-180T PGRH-220T
15/20/25/35/45 006 040(008)  228(0.72) 3.02 7.83 277 803
2 others 005 030(006)  145(0.38) 164 5.00 159 553

Specifications #R1§ Unit:mm
Rt Dimensions PGRH60T PGRHY0T PGRH115T PGRH142T PGRH1BOT PGRH220T

D1 70 100 130 165 215 -
D2 55 65 85 105 13 =
D3 he 16 2 32 40 55 =
Dég6 50 80 110 130 160 >
D5 25 35 45 50 70 -
D6 M5x0.8P M8x1.25P M12x1.75P M16x2.0P M20x2.5P =
D7 80 118 148 186 239 =
11 60 90 115 142 182 -
2 37 8 63 915 1005 -
L3 7 10 10 10 16 -
L4 1.5 15 3 6 25 -
L5 25 32 40 60 70 -
3 2 3 5 5 6 -
L7 6 8 11 16 18 -
L8 151.8 200.7 2725 3455 4245 -
19 4 45 6 6 8 -
110 165 205 30 38 48 -
L11 135 215 22 32 447 -
c’ 46 70 Q0 115 145 -
2° MAx0.7P M5x0.8P Méx1.0P MB8x1.25P M8x1.25P -
ca’ <8 <14 <19/24 <4 <35 =
ca’ 29 34 44 53 76 =
c5%F6 30 50 70 95 110 -
6’ 6 5 5 6 9 =
cr’ 426 60 20 115 140 =
cs? 25 33 35 48 65 =
co’ 795 1228 1475 188 207 -
B 5 6 10 12 16 B
H 18 245 35 3 59 =

* 1. MitER 100rpm IR, fEAI A B o/ 7 Applied to the output shaft center @100rpm.

* 2. 3000rpm Z#i =¥ Measured at 3000rpm with no load

HAEATEES Y EHRRETREAMERETSEH - The above figures/specifications are subject to change without prior notice.

* Cl~CORANFRE R MR KA N HERE.
* ZATEFMSAN ERBRBERTRHBELETSA.

>
7= SESAME
www.sesamemofor.com

% C1~C9 are motor specific dimensions{metric std shown ),
Size may vary according to the motor flange chosen.
* Specification subject to change without notice.

Products due to human error, natural disasters or other factors lead to poor or damaged, will not be covered under warranty.
REASREX XU ERRERTRERNE - TEREREA -

72 SESAME
www.sesamemotor.com

70

S31SS HYOd




ESAME,

.5€

&~
s

®

3

. N

 PGR SERIES

acC7




73

PGR Single Stage Dimensions PGREESMEIR T H

5

oLl L8
\% D2 oc?
& : =
] e k] 0
e #r=— o
DX A \%{ dg) ) ) q 9 |
= | il © 4
12 o \Q ! =
O [o/ke] &_ ja ey
L5 L_Jocs]
bl [ | BC5rs
S ‘:':“]
I T 7T
L9
LL10,J
Specifications #R1§ Unit:mm
e PGR42 PGRG0 PGRIO PGR115 PGR142 PGR180 PGR220
D1 50 70 100 130 165 . -
D2 34 55 65 85 105 : -
D3h6 13 16 2 32 40 = -
D4gs £ 50 80 110 130 . =
D5 15 25 35 45 50 s s
D6 Mé4x0.7P M5x0.8P M8x1.25P | MI2xL75P | M16x2.0P s -
D7 56 80 118 148 186 - -
L1 26 60 90 115 142 - -
L2 26 37 48 62 93 = -
L3 55 7 10 8 8 = -
14 15 15 15 3 6 - -
15 15 25 32 40 60 - -
16 2 2 3 5 5 . =
L7 4 6 1 12 18 s =
18 1036 1487 204 2445 330 - -
L9 4 4 45 6 6 . -
L10 14 165 205 30 38 - -
L1l 135 215 22 32 247 5 -
ci 46 70 90 115 145 5 -
2? Mé4x0.7P M5x0.8P M6x1.0P M8xL.25P M8x1.25P - -
c3? <8 <14 <19/<04 24 <35 = -
ca? 29 34 24 53 75 - =
€5 26 30 50 70 95 110 - -
C6° 6 5 5 6 9 = -
c7? 26 60 90 115 140 = -
c8? 25 33 35 48 65 - s
co? 70.8 107.8 135 1745 207 5 -
B 5 5 6 10 12 - -
H 15 18 245 35 43 = -

* Cl~CORANRE R MR B KA A N B R E.

* ZATEMHY N LHBREETRHBERETEA.

o
7= SESAME
www.sesamemolor.com

% C1~C9 are motor specific dimensions{metric std shown ),
Size may vary according to the motor flange chosen.
* Specification subject to change without notice.

PLANETARY GEARHEADS

PGR Double Stage Dimensions-1 PGREEEXSMUR < -1

18

oc7

e
1
oo I i
5| Ol Q_ -
c3
Core
Specifications 1% Unitmm
Rt Dimensions PGR42 PGR60 PGR30 PGR115 PGR142
DL 50 70 100 130 165
D2 34 55 65 85 105
D3 ng 13 16 22 32 40
D4 g6 35 50 80 110 130
D5 15 25 35 45 50
D6 M4x0.7P M5x0.8P M8x1.25P | M12x1.75P | MI6x2.0P
D7 56 80 118 148 186
11 426 60 %0 115 142
L2 26 37 48 62 93
13 55 7 10 8 8
14 15 15 15 3 6
L5 15 25 32 40 60
L6 2 2 3 5 5
L7 4 6 8 12 18
L8 1296 176.7 244 2925 391
L9 4 4 45 6 6
110 14 165 205 30 38
111 135 215 22 32 437
c1? 46 70 90 115 145
c2? Méx0.7P M5x0.8P M#6xL.0P M8x125P | M8x1.25P
c3? <8 <14 £19/<24 <4 35
c4? 29 4 4 53 75
C52¢ 30 50 70 95 110
C62 6 5 5 6 9
c7? 426 60 90 115 140
c8? 25 33 35 48 65
92 708 107.8 135 1745 207
B 5 5 6 10 12
H 15 18 245 35 43

* Cl~CORANEEREMBER Y, Wik IBRNBERE.
* ZATEMHN N RS ETE HBERETEA.

% C1~C9 are motor specific dimensions{metric std shown ),

Size may vary according to the motor flange chosen,
* Specification subject to change without notice.

7~ SESAME
www.sesamemotor.com

74

S3L3S O




75

PGR Double Stage Dimensions-2 PGR¥E&SMELRI<T -2

PLANETARY GEARHEADS

PGR Specifications Table PGR{tAERHE LR

18
i —
s Y-
LA
T
il g N S
H c3
L I5
ol N 1
S £=D.|
L9
o,
Specifications #R1§ Unit:mm
Rt Dimensions PGREOT PGRIOT PGRI15T PGR142T PGR18OT PGR220T

D1 70 100 130 165 215 =
D2 55 65 85 105 13 z
D3h6 16 2 32 40 55 -
D4g6 50 80 110 130 160 =
D5 25 35 45 50 70 -
D6 M5x0.8P MBXL25P | M12x175P | MI16x20P M20x2.5P =
D7 80 118 148 186 239 -
L1 60 90 115 142 182 -
L2 37 48 62 93 1045 ~
L3 7 10 F 8 20 e
14 15 15 3 6 25 -
L5 25 32 40 60 70 -
16 2 3 5 5 6 ~
17 3 8 12 18 16 -
18 1451 196.2 2604 3435 4195 5
19 4 45 6 6 8 -
110 165 205 0 8 48 ~
111 135 215 22 2 247 =
a? 46 70 20 115 145 =
70 M4x0.7P M5x0.8P M6x1.0P M8x1.25P M8x1.25P =
ca‘ <8 <14 <19/<24 <24 <35 =
ca‘ 29 34 24 53 75 =
C5°F6 30 50 70 95 110 &
c6° 6 5 5 6 9 -
7’ 26 60 20 115 140 =
cs? 25 33 35 48 65 =
ca’ 795 1228 147.5 188 207 5
B 5 6 10 12 16 -
H 18 245 35 43 59 =

#4& Specifications sﬂge HEIL | pGR42  PGRG0  PGR90  PGR-115 PGR142 PGR-180  PGR-220
3 138 443 952 283 482 1510 1670
119 359 746 249 490 1055 1574
5 138 430 952 283 473 1151 1670
6 125 394 909 266 436 1055 1574
1 7 119 360 856 219 400 1055 1574
8 108 324 850 216 363 860 1184
9 98 287 800 210 320 764 1185
10 101 250 750 210 320 763 1184
M8 | HEL | pgra> pGR-60(T) PGR-90() PGR-L15(T) PGR-142(T) PGR-180T PGR-220T
Stage: Ratio
15 138 442 952 283 482 1151 1670
N orﬁz,‘(‘)ﬂjﬁﬁ I:':que N+m 20 118 359 746 249 490 1055 1574
25 138 430 952 283 473 1151 1670
30 138 430 952 283 473 1151 1670
2 35 138 430 952 283 473 1151 1670
40 138 430 952 283 473 1151 1670
45 138 430 952 283 473 1151 1670
50 138 430 952 283 473 1151 1670
60 125 394 909 266 436 1055 1574
70 119 360 856 219 400 1055 1574
80 109 324 85.0 216 363 860 1184
%0 98 287 800 210 320 764 1185
100 101 250 750 210 320 763 1184
BEA4E T2nor Nem 3.0 FHRXEM 1 14E ( 3.0 times of Nominal Output Tarque)
Emergency Stop Torque (* A 1% Max. Output Torque T2B =60% of Emergency Stop Torque}
N g‘;nﬁln?l‘q\r:l% Sr:zleNed mPm 1.2 3-100 3000 3000 3000 2500 2000 2000 2000
ﬁfﬂf‘\pﬁﬁggg‘ pm 12 3100 | 6000 6000 6000 5000 4000 4000 4000
HEERER i 1 3-10 ® 3 H 24 =4 =4 24
Micro Backlash PO aremin 2 12-100 . s = 56 s6 56 56
WBER 9 1 3-10 ® kE %6 6 %6 =6 %6
Precision Backlash P1 aremin 2 12-100 = s s9 s8 s8 s8 58
EEER : 1 3-10 <12 <9 59 <9 <9 =9 59
Standard Backlash P2 aremin 2 |12100| sis 12 s12 s11 s11 s1 s11
## Rl Torsional Rigidity /:‘rc'nfi‘n 12 3-100 10 28 75 155 30 57 110
= 1
pluldtpllET N 12 | 3100 | 350 960 1630 3380 6150 7260 11120
.Elfxmﬂﬁ Eé;ndl N 12 3-100 320 900 1420 2930 5510 5550 8560
{$EFRIB & Operating Temp. g4 3-100 -10°C ~+90°C
= FMMService Life hr 3-100 20,000 (10,0007 3 R34 Continuous operation)
sk @ 1 3-10 294%
Efficiency 2 12-100 290%
== i 1 3-10 10 25 6.5 13.2 246 49 81
Weight 9 2 12-100 | 13 32/28  86/69  177/145 29/262 53 87
2244751 Mounting Position = 1,2 3-100 £ ANy direction
IRE1E Noise Level 2 dBA/1m 12 3-100 &5 &7 70 70 75 75 80
B #8 Protection Class - 12 3-100 1P65
#3# Lubrication = 1,2 3-100 EEMBEEH Synthetic Lubricant
FENEE R nertia()1)
#i%Stage HLLRatio Bfizunit PGR-42 PGR-60 PGR90  PGR-115 PGR-142 PGR-180  PGR-220
3/4/5/7/9 0.06 040 228 687 242 693 1382
1 6/8/10 0.05 030 145 476 145 503 1036
#i#Stage FEtbRatio Kgs cm? PGR-42 PGR-60(T) PGR-90(T) PGR-115(T) PGR-142(T) PGR-180T PGR-220T
15/20/25/35/45 006 040(008)  228072)  687(302)  242(7.83) 277 803
2 others 005 030(006)  145(038)  476(L64)  145(5.00) 159 553
* 1. MLHER 100rpm I, fF ARLHA Bl Mz IR Applied to the output shaft center @100rpm.
* 2. 3000rpm Z#i =¥l Measured at 3000rpm with no load.  * 3.PGR115T - OO - POA#A L3k -  PGR115T - OO - PO is not applicable.
HAEATHES N EHREETREAMERETSEH - The above figures/specifications are subject to change without prior notice.

* Cl~CORANRE R MR B KA A N B R E.
* ZATEFMS AN ERBRBETRHBELETEA.

)
7= SESAME
www.sesamermnolor.com

% C1~C9 are motor specific dimensions{metric std shown ),
Size may vary according to the motor flange chosen.

* Specification subject to change without notice.

Products due to human error, natural disasters or other factors lead to poor or damaged, will not be covered under warranty.

REASREX XU ERRERTRERNE - TEREREA -

72 SESAME
www.sesamemotor.com

76

S3L3S O




=
&~ SESAME

® www.sesamemotor.com

L3

L10

L4

L6

L5

Bl

= [T
POFR series




PLANETARY GEARHEADS
PGFR Single Stage Dimensions PGFREESNEIR~TH PGFR Double Stage Dimensions-1 PGFREE:SMER~TH-1
L10 L10
[ 5 L4 L6
Sl £
i
b= b= Sl ol B
EEEEE EEEE ]
8 8 8 9 8 9 | 8 B 9 B
o 8 ) Z 4 8
£ e
2] a | a3 2l e Vo o 3
S E o g[ 59|l ||l
2 Hr---d | 855
@C
C5
Specifications #R1& Unit:mm Specifications & Unitmm
R~ Dimensions PGFR42 PGFR60 PGFRS0 PGFR115 R~ Dimensions PGFR42 PGFR60 PGFR90 PGFR115
D17 B = 315 - D1h7 - - 315 -
D2 - - 50 - D2 - - 50 =
D3 h7 - - 63 = D3 h7 - - 63 -
D4n7 2 - 90 - D4-n7 i & 90 i
D5 - - 109 - D5 - - 109 -
D6 = s M6x1.0P = D6 = = Mé6x1.0P =
D7 - - 118 - D7 - - 118 -
D8 vz = = 6 = D817 = & 6 -
D9 - - 5.5 - D% - - 5.5 -
D10 - - 89.2 - D10 - - 89.2 -
L1 - - 12 = L1 - - 12 - E]
L2 - - 12 - 2 - . 12 - o
L3 - - 6 - L3 - - 6 - v
L - - 2 - u - - 29 - 3
L5 - = 10 = L5 = E 10 -
L6 = = 7 = L6 = = 7 =
L7 - & 35 & L7 o B 55 -
L8 - - 22 - L8 - - 22 -
L9 = - 7 = L9 - - 7 -
L10 = w 1711 - L10 o B 216.1 =
ca? - - 90 - c? - - 90 -
«@? = » M6x1.0P 5 (@i = = M6x1.0P 2
c3? = - <19/<24 - c? - = <19/<24 =
@’ - - 44 - s’ - - 44 -
5% - : 70 — C5%Fs B 3 70 z
[ - - 5 - c6? - - 5 -
cr? = - 90 - cr? = = 90 -
cs? : : 35 : c8? - - 35 :
c9? - » 137.5 - c9? . = 137.5 .
% Cl~-CORANEZRFBEHR T WKAEANFERE.  * C1~C9 are motor specific dimensions{metric std shown ), * Cl~-CORANEEREEBER T MWk MERNTERE. % CL~CY are motor specific dimensions{metric std shown ),
Size may vary according to motor flange. Size may vary according to motor flange.
* ZATEMSA ERBREBTRHBERSTEA. * Specification subject to change without notice. * EATEMANN ERBRRETRHBERETSA. * Specification subject to change without notice.
79 »,*5—“ SESAME r,}? SESAME 80
www.sesamermnolor.com www.sesamemotor.com




PLANETARY GEARHEADS

PGFR Double Stage Dimensions-2 PGFREBEZSMEIR T -2

L10 PGFR Flange Dimensions PGFRZMER~ &

L4 L6
L3

ops"
—

@D7
@D5
@D4n7
D10
@D3h7

C8

L7

C:
[
gCs”
Specifications 1% Unit:mm PGFR115
R Dimensions PGFRE0T PGFRI0T PGFR115T

D1u7 = e 40

D2 - - 63

D3 h7 - - 80

D4 h7 - - 110

D5 = - 135

D& - - Mé6x1.0P

D7 - - 145

D8H7 - & 6

D9 - z 55
D10 - - 109.2

L1 - - 12 3
L2 - - 135 =
13 - - 6 z
L4 - - 29 @
L5 - - 10

6 . : 8 Specifications FR& Unitmm

L7 - - 55

L8 = = 22

9 - N 7 R Dimensions PGFR42 PGFR60 PGFR90 PGFR115 PGFR142

110 - 5 2266 Dinz 12 20 315 40 -

a? - : a0 D2 20 315 50 63 -

a2 - 8 MExLOP D3h7 28 40 63 80 =

32 B N <19/<24 Danz 47 64 90 110 -

T . 8 — D5 67 79 109 135 -

5 2re N N 70 D6 M3x0.5P M5x0.8P M6x1.0P M6x1.0P -

62 - . 5 D8H7 3 5 6 b -

72 . . 0 D9 34 45 5.5 55 -

cHR = g 35

2 = - 1
o 20 * BATEMEN ER R ETR T MERETEA. * Specification subject to change without notice.
% Cl~-CORANEZRFRBERR T WKAEANFERE.  * C1~C9 are motor specific dimensions{metric std shown ),
Size may vary according to motor flange.
* ZATEMSA ERBREBTRHBERSTEA. * Specification subject to change without notice.
81 ‘ 7 sesame ¢?' SESAME! | go

www.sesamemolor.com www.sesamemotor.com




PGFR Specifications Table PGFR£RERIEHET

J4% Specifications Sﬂge B PGFR-42 PGFR-60 PGFR-90 PGFR-115
3 - 40 105 180
4 16 43 110 240
5 17 50 130 290
1 7 14 4 125 270
10 11 37 95 220
14 14 24 125 270
20 11 37 95 220
sﬁtﬁge s PGFR-42 PGFR-60(T)  PGFR-90(T) PGFR-115T
B Ton Kism 15 - 40 105 180
Nominal Output Torque 20 16 43 110 240
25 17 50 130 290
30 17 50 130 290
35 17 50 130 290
2 40 17 50 130 290
50 17 50 130 290
70 14 44 125 270
100 11 37 95 220
140 14 24 125 270
200 11 37 95 220
= N%E TanoT Nem 3.0 EEREWH N4 (3.0 times of Nominal Output Torque)
Emergency Stop Torque (* B A 7% Max. Output Torque T2B =60% of Emergency Stop Torque)
N:ﬁﬁ_ﬁ)ﬁ_‘?ﬁ Sr:)]:‘e d rpm 12 3-100 5000 5000 4000 4000
%’:}?If‘\pﬁ;ﬁ;‘;;? rpm 12 3-100 10000 10000 8000 8000
= N N < <
micro backeeneo | ™™ | 3 | 15am i i <6 P
BEER . 1 3-10 <6 <6 <6 <4
Precision Backlash P1 aremin 2 12-100 <8 <8 <8 <7
EEER . 1 3-10 <8 <8 <8 <6
Standard Backlash P2 aremin 2 12-100 £10 £10 <10 <9
H##@ I Torsional Rigidity /glr::r:i‘n 12 3-100 6 12 28 75
Miﬁ:ﬂﬁfh/"l’:rﬁ:ﬂt Nem 12 3-100 18 29 61 111
ﬁiﬂﬁg E;::(; N 12 3-100 372 508 849 1260
fEFHRE Operating Temp. *C 3-100 -10°C ~+90°C
& MmService Life hr 3-100 20,000 (10,000/ 3##%:E# Continuous operation)
?&_i % 1 3-10 295%
Efficiency 2 12-100 292%
ER K 1 3-10 10 23 6.3 135
Weight 9 2 12-100 14 3.0/2.6 8.3/6.7 14.8
#7518 Mounting Position - 12 3-100 FRFEAny direction
[E%1{# Noise Level 2 dBA/Im 12 3-100 62 64 66 68
B %4k Protection Class & 12 3-100 1P65
838 Lubrication - 1,2 3-100 2EMEBEM Synthetic Lubricant
FEMBWERE Inertia(1)
Hi%Stage S RLLRatio EBfiunit PGFR-42 PGFR-60 PGFR-90 PGFR-115
i 3/4/5/1/9 0.06 0.40 228 687
10/14/20 0.05 030 145 476
#i#Stage JE3ZELERatio Kg « cm? PGFR-42 PGFR-60(T) PGFR-90(T) PGFR-115T
15/20/25/35 0.06 0.40(0.08) 2.28(0.72) 3.02
2 others 0.05 0.30(0.06) 145(0.38) 164
* 1. ) EE3% 100rpm B, (FAR#H# 0B Applied to the output shaft center @100rpm.
*2.3000rpm 2=} 53| Measured at 3000rpm with no load
HAATEHE FEERBSTREEERLTEH © The above figures/specifications are subject to change without prior notice.

Products due to human error, natural disasters or other factors lead to poor or damaged, will not be covered under warranty.
EREA RERER . £ .

a3 | = sesame
www.sesamemotor.com

PLANETARY GEARHEADS

¢ C w

77 SESAME a4
www.sesamemotor.com

o
(0]
m
=
w
@
=
@
3




oCT7

C9

o
(6]

c8

L8

L4 L6

www.sesamemotor.com

SESAME

®

<,
P

@

L3

8ag

85




PGF SERIES FEATURES PGF%3! Em45Rh

HRMEERSREEN  BERREERER
E » RARAERER/VEHE - WSEETE
%I}T’I{  IESRENEE  SERERSmEE

Alloy steel gear with unique heat treatment.
Additionally, with gear grinding processing to
get the best accuracy, high wear resistance and
high impact toughness.

TEERESNTERAHREE  mEHTITSRER  DUERIRK
BEEERER)BRAE - EEEEEITRIELET o

Planet gear transmission interface equipped with needle bearings,
full needle roller bearings aligned without retainer achieve maximum
exposure but smallest gap tolerances. Enhance over-all gear
structure rigid and output torque.

TEEERRENHB—ENE - BARERREUBRAE
BB TEIRAHBEMREIMSEOSEEET]

Planetary arm bracket and output shaft are one-piece constructed,
setting bearing apart for larger span to reach the largest reverse rigid
and contribute high axis radial load capacity.

PLANETARY GEARHEADS

AGERRHEREREARITEEEER > B
TEMMATIEERE! » DIRRESTHMRINE -
The sun gear bearing is placed directly into the
planetary arm bracket, the overall mechanical
structure designed to ensure concentricity of
the transmission components.

WAREREANMERFSERARRINS
8 HRRCESTEDN - RRSEET
BENENRLEREEZ=SIEE
Input-end and motor shaft are coupled
through a dynamic balanced collar clamping
mechanism to ensure connection interface
concentricity and zero slip power transmis-
sion at high speed.

BRI R CERMEE - TERMH
E - RIP6SIFESRABERE - WIRAS
RIS » RN - BRE -

High-tech oil seal design on the upper lip
guard against dust intruder, lower lip to guard
against oil leak. Protection grade IP65
safeguards fully avoid leaking problem, and
given it maintenance-free.

SERSTERGE - EAANERE - &k
B THEBERMZER - SERFETER
ECHE -

Advanced motor bracket design coupled with

PGFRIIBEEEET CORH RSB ESBENAA - EISAH
G - HAOBMBAPEEKE - TIEEERAREER - KIBE
NZENTHE - GBREHREIREEFERNT - RSHEEES
g BE ~ BRERRSMAVIZRIEY

PGF Series overall design suitable for combination operation with

the input shaft bushing is easy to mount to
any servo or stepper motor.

HomRERENERERREEERBABLEDER - RERE
B EREAFHEEDMRBHERRE  TEREREMEE
15 » KIE#E) \SERATZER -

Grinding process to smooth surface of output shaft, and with oil-seal
to minimum friction coefficient and reducing start up load; result in
the best seal-ability and extended lifespan. Hollow out-put shaft
connects perfectly with circular flange drastically reducing the
installation space.

2 SESAME

www.sesamemotor.com

servo motor high-speed input and achieves maximum torque
output. Hollow out-put shaft connects perfectly with circular flange
drastically reducing the installation space.

Precision gear design and gear processing create a planetary
gearhead with low backlash operation, high efficiency, low noise
and long lifespan.

SOERERERERE - ME » WEM - RESSNSRBRTEK -
AREETEENRGE— I TR - BEEEERIGERIIT - RESEEE » 87  MERSRE -
Advanced electroless nickel plating surface treatment resists scratch and corrosion. Suitable for
stringent require of high-tech equipment.

The gear box and internal gear ring are one-piece constructed, and then processed with advanced
Germany gear shaper machinery for high-precision, high torque and abrade consumption.

Products due to human error, natural disasters o other factors lead to poor or damaged, will not be covered under warranty. EREABRE FEAAE T

S
7 SESAME 88
www.sesamemofor.com




PGF Single Stage Dimensions PGFEEZSMUR~T M

c9
5 L4 L8 L8 c8
gj L3, L L:‘I -
_E_
L9
= f T 70— g
I B ) e n
SEEERE J - 3
= of
P 1 ol
Jal I —
T~ C6
L2 8 ca D.E
3| ox
o
Specifications R& Unit:mm
R Dimensions PGF42 PGFE0 PGF30 PGF115
D1n7 12 20 315 40
D2 20 315 50 63
D3h7 28 40 63 80
D4 h7 47 64 90 110
D5 67 79 109 135
D6 M3x0.5P M5x0.8P M6x1.0P Méx1.0P
D7 72 86 118 145
D8H7 3 5 6 6
D9 34 45 55 55
D10 60 70 95 120
D11 46.2 632 89.2 1092
L1 4 8 12 12
L2 6 72 12 135
L3 3 3 6 6
L4 195 195 29 29
L5 7 7 10 10
L6 4 4 7 8
L7 5 77 8 10
L8 25 295 35 50.5
L9 4 6 7 7
ci? 46 70 90 115
c2? M4x0.7P M5x0.8P M6xL.0P M8x1.25P
c3? <8 <14 <19 224
c4’ 28.1 365 412 511
C5 25 30 50 70 95
c6? 4 4 67 6
c7? 42 60 90 115
cs’ 165 19 255 30
o’ 748 845 1045 1275
c10? 74 9 11.3 139
oD 56x2 66x2 90x3 11053

Cc2

(@)

PGF Double Stage Dimensions-1 PGFEE:SM K~ -1

@DT

co
L4 LB L8 cs
e e
= b 2
8 35 8 - 8
8 8 gl § bt
[
=B~ c8
(=1
L2 3 B C4
B

o

or

)

Specifications & Unitmm
Rt Dimensions PGF42 PGF60 PGFS0 PGF115

D1H7 12 20 315 .
D2 20 315 50 -
D3h7 28 40 63 -
D4h7 47 64 90 -
D5 67 79 109 2
D6 M3x0.5P M5x0.8P M6x1.0P -
D7 72 86 118 -
D&H7 3 5 6 -
D9 34 45 55 s
D10 60 70 95 -
D11 462 632 89.2 -
u 4 8 12 -
L2 6 72 12 x
13 3 3 6 -
14 195 195 29 -
L5 7 7 10 -
L6 a 4 7 s
L7 5 77 8 :
L8 54.5 685 80 -
19 4 6 7 -
c12 46 70 90 -
22 Max0.7P M5x0.8P M6xL.0P 5
c3? <8 <14 <19 -
c4? 281 365 412 -
C52F6 30 50 70 -
c62? 4 4 67 .
c7? 42 60 90 y
cs? 165 19 255 -
c9? 1025 1235 1486 s
c10? 74 9 113 5
oD 562 66:2 90x3 -

7 SESAME

www.sesamemofor.com

* Cl~CORANRE R MR B KA A N B R E.
* ZATEFMS AN ERBRBETRHBELETEA.

% C1~C9 are motor specific dimensions{metric std shown ),
Size may vary according to the motor flange chosen.
* Specification subject to change without notice.

()

* Cl~CORANEEREEBER Y, Wik IBRNBERE.
* ZATEMHN N RS ETE HBERETEA.

% C1~C9 are motor specific dimensions{metric std shown ),
Size may vary according to the motor flange chosen,
* Specification subject to change without notice.

PLANETARY GEARHEADS

7~ SESAME

www.sesamemotor.com




PLANETARY GEARHEADS

PGF Double Stage Dimensions-2 PGFEERSMEI K< H-2

c9
b il - _cs) PGF Flange Dimensions PGFE:MIER <TH
LE L
_Ej . | cio
:I: PGF42
M| HelT
58 558 _ 1T 8
8 o s o ; 8|
Bl
W I (R
[of: =
4o [a]
L2l |8
=
8
(o]
Specifications R1& Unitmm
Rt Dimensions PGF&0T PGFO0T PGF115T
D17 20 315 40 PGF115
D2 315 50 63
D3p7 40 63 80
D4 h7 64 90 110
D5 79 109 135
D6 M5x0.8P M6x1.0P M6x1.0P
D7 86 118 145
D8H7 5 6 6
D9 45 55 5.5
D10 70 25 120
D11 63.2 89.2 109.2
L1 8 12 12
12 7.2 12 13.5
L3 3 6 6
L4 19.5 29 29
L5 7 10 10
L6 4 7 8
L7 77 8 10 .pe .
s o2 P w95 Specifications 1§ Unitmm
L9 6 7 7
12 46 70 90 R~ Dimensions PGF42 PGF&0 PGF90 PGF115 PGF142
€22 M4x0.7P M5x0.8P Mé6x1.0P D1lu7 12 20 31.5 40 -
a? 8 sl4 <19 D2 20 315 50 63 -
ca? 281 365 4121 D3n7 28 40 63 80 -
€526 30 50 70 D4n7 47 64 90 110 -
c6? 4 4 67 D5 67 79 109 135 £
c7? 42 60 90 D6 M3x0.5P M5x0.8P M6x1.0P M6x1.0P -
cs? 165 19 255 D87 3 5 6 6 -
c9? 109.2 135.5 159.1 D9 34 45 55 5.5 =
cip? 74 9 11.3
oD 66x2 90x3 110x3
* ARATEMEHE N ERSRAEETR N WERETEA. * Specification subject to change without notice.
* Cl~CORANAMBEBRBRA S, MKATHWANFERE.  * C1~C9 are motor specific dimensions(metric std shown ),
Size may vary according to the motor flange chosen.
Y FAFARHELN FHB RGBT MERETEA. % Specification subject to change withaut notice.
91 »—;"' SESAME ,;?' SESAME 92
www.sesamemofor.com www.sesamemotor.com




PGF Specifications Table PGFaEfR1EIL=

#4% Specifications s“ﬁ;’g“e el PGF-42 PGF-60 PGF-90 PGF-115
3 - 40 105 180
4 16 43 110 240
5 17 50 130 290
! 7 14 24 125 270
10 1 37 95 220
s‘{';?e S PGF-42 PGF-60(T) PGF-90(T) PGF-115T
BRI TN s
Nominal Output Torque 15 - 40 105 180
20 16 43 110 240
25 17 50 130 290
30 17 50 130 290
2 35 17 50 130 290
40 17 50 130 290
50 17 50 130 290
70 14 44 125 270
100 11 37 95 220
2= F4E Tanot N 3.0 fEEAE# H H4E ( 3.0 times of Nominal Output Torque)
Emergency Stop Torque (* B AH 7% Max. Output Torque T2B =60% of Emergency Stop Torque)
et e rpm 12 3-100 5000 5000 4000 4000
%ﬁlﬁ\;ﬁg&“ rpm 12 3100 10000 10000 8000 8000
. 1 3-10 =3 =3 23 <1
Micro Backlash PO arcmin 2 12-100 <5 <5 <5 <3
mEER . 1 3-10 <5 <5 <5 <3
Precision Backlash P1 sremin 2 12-100 <7 <7 <7 <5
AR . 1 310 7 <7 <7 <5
Standard Backlash P2 aremin 2 12-100 <9 <9 <9 <7
a@AlTorsional Rigidity | NoM | 12 3-100 6 12 28 75
M?ﬁ%ﬂﬁfmrﬁ;m Nem 12 3-100 225 36 76 140
S ey N 12 3-100 465 635 1060 1580
#EFE;BEE Operating Temp. °C 3-100 -10°C ~+90°C
& FAMd Service Life hr 3-100 20,000 (10,000/ 3= #43E# Continuous operation) 3
ﬁz_$ % 1 3-10 297%
Efficiency 2 12-100 294%
B8 L 1 3-10 07 14 32 6.0
Weight 9 2 12-100 11 22/17 5.9/4.0 79
R#75716 Mounting Position - 12 3-100 B3 EANy direction
IR E1E Noise Level 2 dBA/Im 12 3-100 56 58 60 63
Bh %48 Protection Class - 1,2 3-100 1P65
SB35 Lubrication = 12 3-100 EEMMEM Synthetic Lubricant
R E R Inertia(1)
i Stage SHELERatio EfiTunit PGF-42 PGF-60 PGF-90 PGF-115 =
3 - 0.19 072 235
4 002 0.18 067 166
1 5 002 017 065 150
7 002 014 060 145 )
10 Kg « cm? 002 014 058 141 ; S
#h#Stage WikE:Ratio PGF-42 PGF-60(T) PGF-90(T) PGF-115T
15/20/25 002 0.17(0.02) 065(0.17) 065 ¢
2 30/35/40 002 0.14(0.02) 0.60(0.14) 060 ]
50/70/100 002 0.14(0.02) 0.58(0.14) 058 t
* 1. i #3% 100rpm B, R L# /0 B Applied to the output shaft center @100rpm. -
*2.3000rpm 22#E A Measured at 3000rpm with no load X
XAATHERE D EHRBRETRABEARSLTE - The above figures/specifications are subject to change without prior notice. e

Products due to human error, natural disasters or other factors lead to poor or damaged, will not be covered under warranty.
ESEA FEREE . T »

o3 | 27 isEsame
www.sesamemotor.com

PLANETARY GEARHEADS

¢ C w

77 SESAME a4
www.sesamemotor.com

-l
(0]
m
wy
o
=5
o
73




SESAME

©® www.sesamemotor.com

Ne

Cc9

C6

BE r‘—r . é%% %

© | ©| ©\ N
g B Of ¢ _ n '___QI S
SRS D Einyle==== S
i \@ o
0 ¥

A

oC7
&
N =
?2%

| PEC155T/PEC205T/PEC235T

=N

P

w

I
(@)
N
¢C3

L2 L8 C8

Cé X

—

I___Q ]

=5y
L('}

O

C5

S

Cc2




97

PEC Single Stage Dimensions PECERIMER~THE

PLANETARY GEARHEADS

PEC Double Stage Dimensions-1 PECSER9ME K< E-1

Specifications R1& Unit:mm
S PECS0 PEC70 PEC90 PEC120 PEC155 PEC205 PEC235
D1 44 62 80 108 140 184 210
D2 M4x0.7P M5x0.8P M6x1.0P M8x1.25P M10x15P M12x1.75P M16x2.0P
D3he 13 16 2 22 0 55 75
Dégs 35 52 68 90 120 160 180
D5 15 25 35 45 50 70 80
D6 M4x0.7P M5x0.8P M8x125P | MI12xL75P | MI16x2.0P M20x2.5P M20x2.5P
D7 50 70 94 120 155 205 235
L2 245 35 48 60 93 995 126
13 4 5 10 [3 8 15 18
L4 1L 15 15 3 6 25 2l
L5 15 25 32 40 60 70 %0
L6 2 2 2 5 5 6 7
L7 8 10 10 15 18 21 32
L8 30 38 15 61 79 925 1295
L3 4 4 4.5 6 6 8 7
L10 14 16.5 205 30 38 48 42
111 214 315 365 42 63 695 1022
c1t 6 70 90 115 145 200 235
c2 2 M4x0.7P M5x0.8P Méx1.0P M8x1.25P M8x1.25P M12x1.75P M12x1.75P
a3’ ] 14 219724 4/<28 35 550 =55
ca? 27 35 23 58 66 82 98
c5 . F6 30 50 70 a5 110 1143 200
c6? 4 5 5 8 6 13 12
e 50 70 94 120 140 182 220
cs? 34 24 50 63 80 95 130
co? 885 117 144 184 252 287 3855
B 5 5 6 10 12 16 20
H 15 18 245 35 3 59 79.5

ce oct
L7, I.'” . c6
Z [Hm
8| . 1
e - ¢
L4 i
L3 "
L2 L8 cs
PEC155/PEC205/PEC235
co
i L1
! L7 ;& V' =
’ o
8 g[ﬁ = : 8
s B 1
L3 Lond ca
L3 L8 [+
Specifications FRt& Unitmm
bt PEC50 PEC70 PECS0 PEC120 PEC155 PEC205 PEC235
D1 44 62 80 108 140 184 210
D2 Mé4x0.7P M5x0.8P M6x1.0P M8x1.25P M8xL5P M12x175P | MI16x2.0P
D3hs 13 16 2 32 40 55 75
Dégs 35 52 68 90 120 160 180
D5 15 25 35 45 50 70 90
D6 Mé4x0.7P M5x0.8P M8x125P | MI2xL75P | M16x2.0P M20x2.5P M20x2.5P
D7 50 70 94 120 155 205 235
2 245 35 48 60 93 995 126
13 4 5 10 6 F 15 18
14 15 15 15 3 6 25 3
L5 15 25 32 40 60 70 90
L6 2 3 5 5 6 7
L7 10 10 15 18 21 32
L8 56 66 86 109 140 1825 244
L9 4 4 45 6 6 8 7
110 14 165 205 30 38 48 42
111 244 315 365 42 63 695 1022
c1? 46 70 90 115 145 200 235
c2 2 M4x0.7P M5x0.8P Méx1.0P M8x1.25P M8x1.25P M12x1.75P M12x1.75P
& <8 s14 <19/<24 <24/<28 35 <50 <55
ca? 27 35 43 58 66 82 98
526 30 50 70 95 110 1143 200
c6 4 5 5 8 6 13 12
7’ 50 70 94 120 140 182 220
ca? 34 44 50 63 80 o5 130
co? 1145 145 184 232 313 377 500
B 5 5 3 10 12 16 20
H 15 18 245 35 43 59 795

* Cl~CORANFRE R MR KA A N HERE.
* ZATEFMSAN ERBRBERTRHBELETSA.

=
7= SESAME
www.sesamermolor.com

% C1~C9 are motor specific dimensions{metric std shown ),
Size may vary according to the motor flange chosen.
* Specification subject to change without notice.

* Cl~-CORANEEREMBER T WK MERNTERE. % CL~CYI are motor specific dimensions{metric std shown ),

Size may vary according to the motor flange chosen,

* ZEATHEMANN ERBRRETRHBERETSA. * Specification subject to change without notice.

7~ SESAME 98
www.sesamemotor.com




PEC Double Stage Dimensions-2 PECSBERSME R~ -2

c8

Q
b
c3

oc7

=G,
o
&

PLANETARY GEARHEADS

PEC Specifications Table PECH:aERIBH=

| PEC155T/PEC205T/PEC235T

I ocy
i
e »
= = 8 & %
= I 7
) el o
L2 cB
Specifications R#& Unit:mm
K<t Dimensions PEC70T PEC90T PEC120T PEC155T PEC205T PEC235T
D1 62 80 108 140 184 210
D2 M5x0.8P M6xL.0P M8x1.25P M10x15P M12xL75P M16x2.0P
D3 he 16 22 32 40 55 75
D4 g6 52 68 920 120 160 180
D5 25 35 45 50 70 90
D6 M5x0.8P M8x1.25P M12x1.75P M16x2.0P M20x2.5P M20x2.5P
D7 70 94 120 155 205 235
L2 35 43 60 93 995 126
13 5 10 3 8 15 18
L4 15 4% £ 6 25 el
L5 25 32 40 60 70 90
L6 2 3 5 5 6 7
L7 10 10 15 18 21 32
L8 60.8 705 994 127 162 2115
19 4 45 6 6 8 7
110 165 205 30 8 48 42
L1 29 355 205 42 63 69.5
€12 46 70 S0 115 145 200
c2? Mé4x0.7P M5x0.8P M6x1.0P M8x1.25P M8xL.25P ML2xL75P
c3? <8 <14 <19/<24 224/<28 <35 <50
42 285 41 47.75 58 66 82
C52¢g 30 50 70 95 110 1143
c6? 55 8 6 8 6 13
72 50 70 94 120 140 182
c8? 40 50 55 63 80 95
<k 1358 1705 2144 283 3415 4325
B 5 6 10 12 16 20
H 18 245 35 43 58 785

* Cl~CORANERE R MR WK AR A W HERE.

* ZATEMHAN LHBREETOHBERLTEA.

A SESAME

www.sesamemotor.com

% C1~C9 are motor specific dimensions{metric std shown ),
Size may vary according to the motor flange chosen.
* Specification subject to change without notice.

#15 Specifications oM | MBI | ecso  PEC70  PEC9D  PECA20  PECISS  PEC-205  PEC-235
3 138 442 952 283 482 1151 1670
4 119 359 746 249 490 1055 1574
1 5 138 430 952 283 473 1151 1670
7 118 360 856 219 400 1055 1574
10 101 250 750 210 320 763 1184
B | WEL | pecso  pEc70) PEC-9O() PEC-120(T) PEC-1S5(T) PEC-205(T) PEC-235(T)
ge Ratio
BEMH5E Tan Kismt 15 138 442 952 283 482 1151 1670
Nominal Output Torque 20 113 359 745 249 490 1055 1574
P 138 430 952 283 473 1151 1670
30 138 430 952 283 473 1151 1670
5 35 138 430 952 283 473 1151 1670
40 138 430 952 283 473 1151 1670
50 138 430 952 283 473 1151 1670
70 119 360 856 219 400 1055 1574
100 101 250 750 210 320 763 1184
= A14E Tanot N 3.0 EEEMH N ( 3.0 times of Nominal Output Torque)
Emergency Stop Torque (* mAHML 14 Max, Qutput Torque T2B =60% of Emergency Stop Torque)
N‘fnﬁin:‘l}fn'gf sT;leNe g o 12 | 3100 | 3000 3000 3000 2500 2000 2000 2000
%fﬂﬁpﬂﬁge‘:;‘ Pm 1,2 3100 | 6000 6000 6000 5000 4000 4000 4000
R 3 1 3-10 £12 £9 =9 £7 £7 =7 £7
Backlash i 2 12100 s15 <12 <12 <9 <9 <9 <9
WA Torsional Rigidity /:‘rér:;n 12 3-100 10 28 75 155 30 57 110
biﬁ%aﬁaljajl E’;; N 12 3-100 350 960 1630 3380 6150 7260 11120
il Rl N 12 | 3100 | 320 900 1420 2030 5510 5550 8560
MR E Operating Temp. gl 3-100 -10°C ~+90°C
fE FAmnnService Life hr 3-100 20,000 (10,000/ EE# Continuous operation)
'§9('¥ % 1 3-10 295%
Efficiency 2 12-100 290%
ER K d 3-10 07 14 30 73 156 26 56
Weight 9 2 12-100 038 22/17 5.0/34 11.5/85 20.7/17.2 36/31 80/62
Z4£75H Mounting Position - 12 3-100 fERF5EAny direction
IR & Noise Level 2 dBA/lm 12 3-100 £65 £67 £70 £70 £75 £75 £80
B %4R Protection Class = 1,2 3-100 P65
#83% Lubrication - 12 3-100 RRERIE Urea derivatives
FRSHBER nertia()1)
#i¥Stage FEERatio Bjunit PEC-50 PEC-70 PEC-90 PEC-120 PEC-155 PEC-205 PEC-235
3 0.03 020 0.81 220 7.89 252 719
4 0.03 0.16 065 180 5.83 198 56.5
1 5 003 015 062 161 5.38 183 533
7 0.03 0.14 0.60 155 5.22 178 53.0
10 Kg * cm? 0.03 0.14 0.60 153 5.20 176 529
ERiStage Fi%ERatio PEC-50 PEC-70(T) PEC-90(T) PEC-120(T) PEC-155(T) PEC-205(T) PEC-235(T)
15/20/25 0.02 015(002)  062(0.15) 161062  538(161)  183(538)  53.9(183)
2 30/35/40 0.02 014002 060(0.14) 155(060)  522(155)  17.8(522)  53.0(17.8)
507707100 0.02 014002 060(0.14) 153060)  520(153)  176(520)  529(17.6)
* 1. Mith&R 100rpm B, fEAHEE Bl R0y B Applied to the output shaft center @100rpm.
* 2. 3000rpm Z# = A Measured at 3000rpm with no load
HKEATAERE L MR ETREMERETEH - The above figures/specifications are subject to change without prior notice.
Products due to human error, natural disasters or other factors lead to poor or damaged, will not be covered under warranty.
SEASRERXUSERBRTRENE - FEREREA -
22 SESAME
www.sesamemotor.com

100







103

PEE Single Stage Dimensions PEEEEXSMELIR~TH

PLANETARY GEARHEADS

PEE Double Stage Dimensions-1 PEESEERSMELC~F -1

< L11 L8
1/
g ) = ___ﬁ_ 8 )4
S| Slé] - ) £
1 !
13 ||| 17 &
12 18 C8
% - D2 < -t
j ; f Q A @l g - i
S&d) o
~iH H
o] FLil
Specifications R& Unit:mm
SR PEES0 PEE70 PEE90 PEE120 PEE142 PEEL80 PEE220
D1 50 70 100 130 165 215 250
D2 34 6 6.5 85 10.5 13 17
D3he 13 16 22 32 40 55 75
D4 gs 35 50 80 110 130 160 180
D5 15 25 35 45 50 70 90
Dé M4x0.7P M5x0.8P M8x1.25P M12x1.75P M16x2.0P M20x2.5P M20x2.5P
D7 64 90 120 152 186 239 292
L1 50 70 94 120 142 182 220
L2 245 37 43 60 93 104.5 138
L3 4 7 5 6 20 30
L4 15 15 L5 3 6 25 3
|15 15 25 32 40 60 70 90
L6 2 2 3 5 5 6 7
L7 1 & 10 12 18 16 20
L8 30 36 51 61 79 875 1175
L9 4 4 45 6 6 8 7
L10 14 16.5 205 30 38 48 42
L11 244 315 36,5 42 63 69.5 1022
c12 45 70 90 115 145 200 235
(@2 M4x0.7P M5x0.8P Méx1.0P M8x1.25P M8x1.25P M12x1.75P M12x1.75P
c3? <8 <14 <19/<24 £24/<28 =35 <50 <55
42 27 35 43 58 66 82 928
C5%¢ 30 50 70 95 110 1143 200
Cc62 4 5. 5 8 6 13 12
c72 50 70 94 120 140 182 220
(&2 34 44 50 63 80 95 130
€92 885 117 144 184 252 287 385.5
B 5 5 6 10 12 16 20
H 15 18 245 35 43 59 79.5

< R
ﬂ ]
(vl
#| 1o]or _-_ﬁ.g. B
ol s] 3
9| 9| 119
2 H7 i
I
&.I
cs_|
PEE 142/PEE180/PEE220
i L5 i < LS
- 3 ﬁ Q i -] _ri
y
-La {0 Y al
| 10| ] 9
- L2 i Ls ’cTa'
Specifications & Unitmm
Dy e PEES0 PEE70 PEES0 PEEL20 PEE142 PEE180 PEE220
D1 50 70 100 130 165 215 250
D2 34 6 65 85 10.5 13 17
D3 e 13 16 22 32 40 55 75
D4gs 35 50 80 110 130 160 180
D5 15 25 35 45 50 70 %0
D6 M4x0.7P M5x0.8P M8x125P | MI12x175P | MI16x2.0P M20x2.5P M20x2.5P
D7 64 90 120 152 186 239 292
L1 50 70 94 120 142 182 220
12 245 37 43 60 93 1045 138
13 4 7 5 6 20 30
L4 15 15 15 3 6 25 3
L5 15 25 32 40 60 70 90
L6 2 7] 3 5 5 6 7
L7 5 6 10 12 18 16 20
L8 56 64 91 109 140 1775 232
L9 4 4 45 [3 6 8 7
L10 14 165 205 30 38 48 42
111 244 315 365 2 63 695 102.2
c12 46 70 20 115 145 200 235
©? M4x0.7P M5x0.8P M6x1.0P M8x1.25P M8x125P | MI12x175P | Mi2x1.75P
c32 <8 <14 <19/<24 <4/<28 <35 <50 <55
ca? 27 35 43 58 66 82 98
C525 30 50 70 95 110 1143 200
c62 4 5 5 8 6 13 12
c72 50 70 94 120 140 182 220
ca? 34 44 50 63 80 95 130
c92 1145 145 184 232 313 377 500
B 5 5 6 10 12 16 20
H 15 18 245 35 43 59 795

* Cl~CORANFRE R MR KA A N HERE.
* ZATEFMSAN ERBRBERTRHBELETSA.

i
#7 SESAME
www.sesamemotor.com

% C1~C9 are motor specific dimensions{metric std shown ),

Size may vary according to the motor flange chosen.
* Specification subject to change without notice.

* Cl~CORANBEREEBER Y, Wik IBRNBERE.
* ZATEMEHN N BRI ETE S MERETEA.

% C1~C9 are motor specific dimensions{metric std shown ),
Size may vary according to the motor flange chosen,
* Specification subject to change without notice.

A2 SESAME 104
www.sesamemotor.com




PEE Double Stage Dimensions-2 PEES2ERSME R~ H-2

c9
L1 =
M ——
/ & &
W O
X 8
1
L4}l 1=
] 3|
Laj|| L7 L €4
L2 L8 c8

PLANETARY GEARHEADS

PEE Specifications Table PEE:fEREHR

\%f -ﬁ—‘m o ce
@) A
& TN
o gy
a1 % _;—‘
Specifications #R1§ Unit:mm
Rt Dimensions PEEZ0T PEEOT PEE120T PEE142T PEE180T PEE220T
DL 70 100 130 165 215 250
D2 6 65 85 10.5 13 17
D3hs 16 22 32 40 55 75
D4 gs 50 80 110 130 160 180
D5 25 35 45 50 70 90
D6 M5x0.8P M8x1.25P M12x1.75P M16x2.0P M20x2.5P M20x2.5P
D7 90 120 152 186 239 292
11 70 94 120 142 182 220
2 37 43 60 93 1045 138
13 7 5 6 8 20 30
14 15 15 3 6 25 3
L5 25 32 40 60 70 90
L6 2 3 5 5 6 7
L7 6 10 12 18 16 20
L8 58.8 775 994 127 157 1995
L9 4 45 6 6 8 7
L10 165 205 30 38 48 42
111 29 35.5 405 42 63 69.5
c1? 46 70 20 115 145 200
c2? M4x0.7P M5x0.8P M6x1.0P M8x1.25P M8x1.25P M12x1.75P
a’ <8 <14 <19/524 <24/<28 <35 <50
ca’ 285 41 47.75 58 66 82
[ 30 50 70 95 110 1143
c6? 55 8 6 8 6 13
c7? 50 70 94 120 140 182
ca? 40 50 55 63 80 95
c9? 1358 170.5 214.4 283 3415 4325
B 5 6 10 12 16 20
H 18 245 35 43 59 795

* Cl~CORANFRE R MR KA N HERE.

* ZATEMHB N LHBREETRHABERLTEA.

i
105 7= SESAME
www.sesamemotor.com

% C1~C9 are motor specific dimensions{metric std shown ),
Size may vary according to the motor flange chosen.

* Specification subject to change without notice.

#115 Specifications M | MBI | peeso  pEE70  PEE.OD  PEE-120  PEE-42  PEE-180  PEE-220
3 138 442 952 283 482 1151 1670
4 119 359 746 249 490 1055 1574
1 5 138 430 952 283 473 1151 1670
7 118 360 856 219 400 1055 1574
10 101 250 750 210 320 763 1184
oM | BB | peeso PEE70M) PEE-SOM)  PEE-L20(T) PEE-142(T) PEE-180(T) PEE-220(T)
ML Ton s 15 138 442 952 283 482 1151 1670
Nominal Output Torque 20 113 359 745 249 490 1055 1574
2 138 430 952 283 473 1151 1670
30 138 430 952 283 473 1151 1670
5 35 138 430 952 283 473 1151 1670
40 138 430 952 283 473 1151 1670
50 138 430 952 283 473 1151 1670
70 119 360 856 219 400 1055 1574
100 101 250 750 210 320 763 1184
= A14E Tanot N 3.0 HEEMH N (3.0 times of Nominal Output Torque)
Emergency Stop Torque (* mAHML 14 Max, Qutput Torque T2B =60% of Emergency Stop Torque)
N‘fnﬁin:‘ljl\n'gf sT;leNe g o 12 | 3100 | 3000 3000 3000 2500 2000 2000 2000
%fﬂﬁpﬂﬁge‘:;‘ Pm 1,2 3100 | 6000 6000 6000 5000 4000 4000 4000
R 3 1 3-10 £12 £9 =9 £7 £7 =7 £7
Backlash i 2 12100 s15 <12 <12 <9 <9 <9 <9
WA Torsional Rigidity /:‘rér:;n 12 3-100 10 28 75 155 30 57 110
biﬁ%aﬁgljajl E’:; N 12 3-100 350 960 1630 3380 6150 7260 11120
il Rl N 12 | 3100 | 320 900 1420 2030 5510 5550 8560
MR E Operating Temp. gl 3-100 -10°C ~+90°C
fE FAmnnService Life hr 3-100 20,000 (10,000/ EE# Continuous operation)
gq_; % 1 3-10 295%
Efficiency 2 12-100 290%
ER K d 3-10 07 14 30 73 156 26 56
Weight 9 2 12-100 038 22/17 5.0/34 11.5/85 20.7/17.2 36/31 80/62
Z4£75H Mounting Position - 12 3-100 fERF5EAny direction
IR & Noise Level 2 dBA/lm 12 3-100 £65 £67 £70 £70 £75 £75 £80
BI®E4R Protection Class = 1,2 3-100 P65
#83% Lubrication - 12 3-100 RRERIE Urea derivatives
FRSHEER nertia()1)
5 Stage HR EaRatio B firunit PEE-50  PEE-70 PEE-90 PEE-120  PEE-142  PEE-180  PEE-220
3 003 020 081 220 7.89 252 779
4 003 016 065 180 5.83 198 56.5
1 5 003 015 062 161 5.38 183 533
7 003 014 060 155 5.22 178 53.0
10 Kg * cm? 0.03 0.14 0.60 153 5.20 176 529
ERiStage W% ERatio PEE-50 PEE-70(T) PEE-90(T) PEE-120(T) PEE-142(T) PEE-180(T) PEE-220(T)
15/20/25 002 015(002) 062015  161(062)  538(l61)  183(538)  53.9(183)
2 30/35/40 002 014002)  060{0.14)  155060)  522(155)  17.8(522)  53.0(L7.8)
50/70/100 002 014002)  060{014)  153060)  520(l53)  176(20)  529(17.6)
* 1 Mith&R 100rpm B, fEFHEE Bl PO B Applied to the output shaft center @100rpm.
* 2. 3000rpm Z# = A Measured at 3000rpm with no load
HKEATAERE L MR ETREMERETEH - The above figures/specifications are subject to change without prior notice.
Products due to human error, natural disasters or other factors lead to poor or damaged, will not be covered under warranty.
SEASRERXUSERBRTRENE - FEREREA -
22 SESAME
www.sesamemotor.com

106




<),
7~ SESAME

‘0 ®  www.sesamemotor.com

 PBC seues




. . 5 o = . . - =
PBC Single Stage Dimensions PBCEEEZSMNEIR~T[E PBC Double Stage Dimensions PBCEERSMNEIR T [E
c9
2 L11
e gl -
e ce ) =
® LT L1t k)
o — o
B | 9| A @k S
5 38 T ] -
H £ 9| [ [
< s} ‘\‘
9 - 9 L4l |
B8
L3
L4 | r c4
L3 I—
< L2 L8 cs
L2 L8 cs 2 €9
a | C6
3l L11 ‘[’
L6, L5 . b h ;
0! ﬂ‘u '] =
o [alfa] - -
8 El SI i F-
!
Rz ] | !
Lo ca
|L10] L3
L2 T L8 cs
Specifications #i1& Unitmm Specifications #i1& Unitmm
R~ Dimensions PBC50 PBC70 PBC90 R~ Dimensions PBCS0 PBC70 PBC70T PBC90 PBCI0T
D1 44 62 80 D1 44 62 80
D2 M4x0.7P M5x0.8P M6x1.0P D2 M4x0.7P M5x0.8P M6x1.0P
D3he 13 16 22 D3hs 13 16 22
D4 g6 35 50 68 D4 g6 35 50 68
D5 15 20 35 D5 15 20 35
D6 M4x0.7P M5x0.8P M8x1.25P D6 M4x0.7P M5x0.8P M8x1.25P
D7 50 70 £ D7 50 70 20
12 26 36 45 12 26 36 45
13 55 5 7 13 55 5 7
L4 26 27 3 L4 26 27 3
L5 15 25 30 L5 15 25 30
L6 2 2 3 L6 2 2 3
L7 8 10 12 L7 8 10 12
L8 324 496 54.4 L8 57.3 803 75.9 95.4 92
L9 4 4 45 L9 4 4 45
L10 14 165 205 110 14 16.5 205
111 269 343 4155 111 26.9 343 26.9 4155 343
cL? 46 70 90 c1L? 46 70 46 90 70
2? M4x0.7P M5x0.8P M6x1.0P c2? M4x0.7P M5x0.8P M4x0.7P M6x1.0P M5x0.8P
3?2 <8/<11 <14/<19 <19/<24/<28 c3? <8/<11 <14/<19 <8/<11 <19/<24/<28 <14/<19
ca’ 265 335 41 ca’ 265 335 265 41 335
C52rs 30 50 70 C52rs 30 50 30 70 50
C6° 4 4 6 c6° 4 4 4 6 4
&~ 426 60 92 c7? 426 60 426 92 60
s’ 364 448 55.8 c8? 36.4 44.8 364 55.8 448
c9? 94.8 1304 155.2 c9? 119.7 161.1 1483 196.2 181.8 -
B 5 5 6 B 5 5 6 e
H 15 18 245 H 15 18 245 8
o
* Cl~CORAMREREBERR S, BIKFTEANFERE. * C1~C9 are motor specific dimensions(metric std shown ), * Cl~CORABREREBERR S FRATEANFERE. * C1~C9 are motor specific dimensions(metric std shown ),
Size may vary according to motor flange. Size may vary according to motor flange.
* EATDAMAHI E WBRE TR BERETEH * Specification subject to change without notice. * EATVAMS N ERBRIGE TR RERETEA * Specification subject to change without notice.
= 2
109 | iﬁ SESAME 7 SESAME 110
www.sesamemotor.com

www.sesamemotor.com




PLANETARY GEARHEADS

PBC Specifications Table PBCHaE/RtEFHE

PRl o g
¢ ¢ 6 6 @0 =
-3 Fe ¢ e 6 O mo
Ie e [ ]
%4952 320N nad
6 @ IS
R ® o T L4 Gd(
c e @ _ 0.8
5 p: e e o o |
Cr%c"a a.,0 a8
G @ o -
#4# Specifications | WA PBC-50 PBC-70 PBC-90 " CeCalalalale
3 48 136 335 PR A L |
4 63 216 586 SR . B B |
c e a & _¢
5 6.0 20.5 55.1 p &% . ¢ 60 6 -
& o
1 7 56 192 518 ¢ .03 EAER
c [ G
9 54 185 500 (et A 7 r'r’_(‘-
C e C [e o »
St ks PBC-50 PBC-70(T) PBC-90(T) ¢ PP
clata RN R
15 48 136 335 SR AL ]
20 63 216 586 PRI L L
25 60 205 55.1 < eC et ala R Ry
35 6.0 205 55 CeCele Budully
ELHWHNE Ton 2 45 6.0 205 551 e PR B 2L ¥
Nominal Output Torque Ne 49 5.6 192 51.8 (, € LE S S G RN 3%
63 56 19.2 518 ,r,r",',',:,,:
. c c c e _a o
81 54 185 50.0 w c L CeC S TR,
2N -
i REL PBC-50 PBC-70T PBC-90T CeCefele RE Rt
cSe St attnt 3
125 60 205 55.1 C el eGe S et R RENE
175 6.0 205 551 ¢ Wv,f,f,’,”,"r,"‘a':
b 3 ¢ c e .}
225 6.0 205 55.1 & = = Gyl ',r,(,:‘aﬁnd\-
5 245 6.0 205 55.1 S ; e eCeS e Nt R R RN
» p C e C € eSS et R
315 6.0 205 551 e eCeCe et e RE RN
405 6.0 205 551 - 3 c ettt kSR AR RN
567 56 192 518 oo € cESRky . -
-
729 54 185 50.0 3 d af
=ASHLE Tanor Nem 3.0 SR EH A4E ( 3.0 times of Nominal Output Torque) S -
Emergency Stop Torque (* B A#H 7% Max. Output Torque T2B =60% of Emergency Stop Torque) 1
HEWMABEE NN ;
Nominal Input Speed pm 123 3-729 4000 4000 3000 J
BAHABIE Nimax
Max. Input Speed Tpm 123 3729 8000 6000 6000
1 39 =9 =8 =7
Lk arcmin 2 15-81 <12 <10 <9
Backlash
3 125-729 <15 £12 <12
. et Nem
iH#igEl4Torsional Rigidity Jarcmiin 123 3-729 08 20 7.0 "
BHBES Fore* -
MadRadSlload N 123 3-729 540 1040 1700 p i
BB Foas -
Ve e N 1.2.3 3-729 360 720 735 2 : =
;8 & Operating Temp. °C 123 3-729 -10°C ~+90°C L <
fEFA®m Service Life hr 123 3-729 20,000 (10,000/ 3=/#3E# Continuous operation) < : o : ¢
1 3-9 295% e ..
Eff?fiz,cy % 2 15-81 290% e
3 125-729 285% e~
< <
=B 1 3-9 0.5 12 31 c S
Weight kg 2 15-81 07 17/15 47/36 e -
3 125-729 0.9 2.0/1.8 5.3/4.0 C A
Z 47318 Mounting Position i 123 3-729 fEEFEAny direction P o
IREE Noise Level 2 dBA/1m 123 3-729 262 <64 <67 e Y o
P54 Protection Class - 123 3-729 P65 LS ‘( I
78 Lubrication = 123 3-729 2EREEM Synthetic Lubricant ; AS >
¢ ¢ (5]
* 1. @R 100rpm B, fE AR 1A /O Applied to the output shaft center @100rpm. c ¢ c ¢ w
*2.3000rpm Z=#EH Measured at 3000rpm with no loa =S &S o ]
XEATEEYY FHEFEBTRBELSTES « The above figures/specifications are subject to change without prior notice. e e o w
c =
¢ c c c -
Products due to human error, natural disasters or other factors lead to poor or damaged, will not be covered under warranty. ¢ - - & < B .
BEEA SR FRIAR - . p S RS S
> - ’ ~ ~ ¢ ~LE
- g g < (= f - =
111 7,3‘3 SESAME
www.sesamemofor.com

% sesaue | g40
www.sesamemotor.com




oC7

C6

Cc9




PBE Single Stage Dimensions PBESERSME R~ H PBE Double Stage Dimensions PBESERSMEL R~ [H
£ cé
c8 & L11
cé a
2 L11
1 a9 o b4
A=
par o — @IS g
H Q| [ {=| Q
@l | g T
1= = 9 L4 i
A =
L4 | H L3 L7 C4
L3 || | L7 | c4 02 LS 8
L2 | L8 | c8 é 8
Li1-C8
L6, L5 I
— & | m T
-;l ¥ Z[ |
(=] Wa] = [ [3]
— I .Y
1 | i
e La]| L
= ca |9
[L1g L3 | [T HE
L2 L8 c8
Specifications #R#& Unitmm Specifications R#& Unitmm
Rt Dimensions PBE42 PBE6O PBE9O Rt Dimensions PBE42 PBE6O/PBEGOT PBE90/PBE 90T
D1 50 70 100 D1 50 70 100
D2 34 55 65 D2 34 55 65
D3 he 13 16 22 D36 13 16 22
D4gs 35 50 80 D4 g6 35 50 80
D5 15 20 35 D5 15 20 35
D6 M4x0.7P M5x0.8P M8xL.25P D6 M4x0.7P M5x0.8P M8x1.25P
D7 56 80 118 D7 56 80 118
L1 42.6 60 90 L1 426 60 90
2 26 36 45 12 26 36 45
13 55 g 7 L3 55 5 7
L4 26 27 3 L4 26 27 3
L5 15 25 32 L5 15 25 30
L6 2 2 3 L6 2 2 3
L7 8 10 12 L7 8 10 12
L8 324 496 544 L8 57.3 80.3 75.9 954 92
L9 4 4 45 L9 4 4 45
L10 14 165 205 L10 14 165 205
L11 26.9 343 4155 111 269 343 269 4155 343
c1? 46 70 %0 c1? 46 70 46 90 70
2° M4x0.7P M5x0.8P M86x1.0P c2? M4x0.7P M5x0.8P M4x0.7P M6x1.0P M5x0.8P
c3? <8/<11 <14/<19 <19/<24/<28 c3? <8/<11 <14/<19 <8/s11 <19/<24/<28 <14/<19
ca? 26.5 335 41 c4? 265 335 265 41 335
C5%rs 30 50 70 C5 %6 30 50 30 70 50
c6° 4 4 6 c6? 4 4 4 6 4
2 426 60 92 7?2 426 60 426 92 60
c8? 36.4 448 55.8 c8? 36.4 4438 364 55.8 4438
€9? 94.8 1304 155.2 c9? 119.7 161.1 1483 196.2 181.8
B 5 5 6 B 5 5 6
H 15 18 245 H 15 18 245
* C1~CIZAW R~ ks A % C1~C9 are motor specific dimensions(metric std shown ), * C1~CORAN R~ Dtk TR % C1~C9 are motor specific dimensions{metric std shown ), g
Size may vary according to motor flange. Size may vary according to motor flange. m
* ZATEMHHU LB BABERTRABERETER. * Specification subject to change without notice. * ZATEMS BN ERBARETRABERETSA. * Specification subject to change without notice. b
é.
115 /,-F—" SESAME ;;‘-9 SESAME | g4
www.sesamemotor.com www.sesamemotor.com




PLANETARY GEARHEADS

PBE Specifications Table PBEffaER1EHTR

PRl o g
¢ ¢ 6 6 @0 =
-3 Fe ¢ e 6 O mo
Ie e [ ]
%4952 320N nad
6 @ IS
R ® o T L4 Gd(
c e @ _ 0.8
5 p: e e o o |
Cr%c"a a.,0 a8
G @ o -
4% Specifications Sﬂ'ﬁage B PBE-42 PBE-60 PBE-90 " 6% 4% ' 0%ale
3 48 136 335 PR A L |
4 63 216 586 SR . B B |
c e a & _¢
5 6.0 20.5 55.1 p &% . ¢ 60 6 -
& o
1 7 56 192 518 ¢ .03 EAER
c [ G
9 54 185 500 (et A 7 r'r’_(‘-
C e C le o »
St ks PBE-42 PBE-60(T) PBE-90(T) ¢ PP
clata RN R
15 48 136 335 SR AL ]
20 63 216 586 PRI L L
25 6.0 205 55.1 ; ,:,n
35 6.0 205 55 CeCele Budully
ELWHNE Ton 2 45 6.0 205 551 e PR B 2L ¥
Nominal Output Torque Ne 49 5.6 192 51.8 (, € LE S S G RN 3%
63 56 19.2 518 ,r,r",',',:,,:
. c c c e _a o
81 54 185 50.0 w c L CeC S TR,
2N -
S%ﬁage o PBE-42 PBE-60T PBE-90T cC e el SR E RN REN
I ¢ ¢ (e 2 c ls o 1
125 6.0 205 551 ¢ ""',':’:';"a"
175 6.0 205 551 ¢ Wv,f,f,’,”,"r,"‘a':
b 3 ¢ c e .}
225 6.0 205 55.1 & = = Gyl ',r,(,:‘aﬁnd\-
5 245 6.0 205 55.1 S ; e eCeS e Nt R R RN
» p C e C € eSS et R
315 6.0 205 55.1 e eCeCe et e RE RN
405 6.0 205 551 - 3 c ettt kSR AR RN
567 56 192 518 3 € c eGSRy .
-
729 54 185 50.0 3 d af
=ASHLE Tanor Nem 3.0 fEEEEH A4E ( 3.0 times of Nominal Output Torque) S -
Emergency Stop Torque (* B A# L 7% Max. Output Torque T2B =60% of Emergency Stop Torque) 1
HEWMABEE NN ;
Nominal Input Speed pm 123 3-729 4000 4000 3000 J
BAHABIE Nimax
Max. Input Speed Tpm 125 3729 8000 6000 6000
1 39 =9 =8 =7
Lk arcmin 2 15-81 <12 <10 <9
Backlash
3 125-729 <15 £12 <12
. et Nem
HigEl4Torsional Rigidity Jarcmin 123 3-729 08 20 7 "
BHBES Fore® -
MadRadsIload N 123 3-729 540 1040 1700 p i
BB Foas < N
Vv e N 1.2.3 3-729 360 720 735 2 : =
;8 & Operating Temp. °C 123 3-729 -10°C ~+90°C L <
fEFA®m Service Life hr 123 3-729 20,000 (10,000/ E/#3E# Continuous operation) < : o : ¢
1 3-9 295% e ..
Eff?fiz,cy % 2 15-81 290% e
3 125-729 285% e~
< <
=B 1 3-9 0.5 12 31 c S
Weight kg 2 15-81 07 17/15 47/36 e -
3 125-729 0.9 2.0/1.8 5.3/4.0 C A
Z 47318 Mounting Position i 123 3-729 fEEFEAny direction P o
IR 8 Noise Level ? dBA/1m 123 3-729 £62 <64 <67 b
B84 Protection Class - 123 3-729 1P65 R T e ‘(
838 Lubrication - 123 3-729 2AREEM Synthetic Lubricant ¥ AS
* 1. @R 100rpm B, fE AR L /O Applied to the output shaft center @100rpm. c .
*2.3000rpm Z=#EH Measured at 3000rpm with no loa 5 ~C s
XEATEEY Y FHEFEBTRBELRSTES « The above figures/specifications are subject to change without prior notice. e e o
c =
¢ c c c -
Products due to human error, natural disasters or other factors lead to poor or damaged, will not be covered under warranty. ¢ - - & < B .
EIEA S@E FERER - R . o A RS L
> - ’ ~ ~ ¢ ~LE
- g - < (= f - =
17 7,3‘3 SESAME
www.sesamemofor.com

9
@
m
w
o
=2
o
n

% sesaue | 448
www.sesamemotor.com




119

Tightening Torque Table #EHH&E

Tightening Torque Recommended for Motor Mounting Bolt / RS E S #RIRMKBHESR

ABER RES MM ZERAN | MEI10IRMAZEHEMD | mE12 984 2 EEHD
Bk R~ Wi d;l: Acroet Flate Strength 8.8 Strength 10.9 Strength 12.9
Bolt Size ' Tightening Torgue Tightening Torque Tightening Torque
mm N-m In-lbs N-m In-lbs N-m In-lbs
M3*0.5P 25 %3 12 18 16 21 19
M4*0Q.7P 3 3 27 41 37 49 44
M5*0.8P 4 6.1 55 82 73 98 87
Me*1P 5 11 28 14 124 17 151
M8*1.25P 6 25 222 34 302 41 364
M10*1.5P 8 49 434 67 594 80 709
M12*1.75P 10 85 753 116 1028 139 1232
M14*2p 12 137 1214 186 1648 223 1976
M16*2P 14 210 1860 286 2534 343 3038
FICOBA (Recinto Ferial Gipuzkaa)
AVDA.IPARRALDE, 43 - ROOM 3
20302 IRUN-GIPUZKOA (SPAIN)
Q. 0034646 211965
4 RCC@RCCINDUSTRIAL.COM
© RCCINDUSTRIAL
INDUSTRIAL SOLUTIONS
z? SESAME

www.sesamemotor.com




